
 NO CHANCE IN A BILLION YEARS
See why billions of years wouldn’t help evolution in this clip from Ken Ham’s Foundations DVD series.

To hear evolutionists tell it, all you need 
To hear evolutionists tell it, all you need is time. Take a few billion years here to get galaxies up and running, a gross of millennia there to line up those pesky organic chemicals the right way for life, and an epoch or two to morph some ape-like creatures into humans.

Evolution sounds incredibly mysterious that way, dressed up in decades and centuries and eons. But all those years really just obscure the deeper issue.

While evolutionists toss years around like a football, they ignore a fundamental flaw in Darwin’s idea. What’s that? Even trillions of years wouldn’t be enough time to produce the simplest cell.

People gamble in hopes to beat the odds and win big. But the slot machine of evolution has no chance to get the jackpot of life arising from non-life.

Not with All the Time in the World





Get the Foundations DVD series.
Secular science textbooks make the origin of life sound simple enough. Throw in some chemicals, zap them with electricity, and you’ve got organic stew. At some point long, long ago, one such chemical concoction hit on the magical formula to succeed. After that, natural selection and genetics took over and marched toward humanity. Given enough time, these books assure us, it was bound to happen.

But that formula for life is like multiplying by zero. No matter how big the other numbers, you’ll still end up with zilch. In other words, throwing in as much time as you like would still get you nowhere. It’s sort of like this:

Darwin’s idea × billions of years × 0 (chance of actually happening) = 0.

When mathematicians crunch the numbers, they come to some pretty staggering conclusions. The chance of evolution actually happening is about as likely as a blindfolded person throwing a pebble into outer space and knocking down a satellite that then crashes onto a target on the back of a truck speeding down the highway. Even with billions of years, that’s not going to happen. (For those of you who like math, you can see some numbers here.)

To be sure, Darwinists have tried to massage those impossible odds to work in their favor, but no amount of number obfuscation can get around the facts. Time is not their friend.

100 Percent Certain

So, if evolution is impossible no matter the eons, what else is there? The answer to that is simple. Based on real observations from scientific studies, we have no reason to believe life started by itself. According to the laws of biology, life always comes from life. Beyond that, information science shows us that information (such as the DNA necessary for life to begin)requires an intelligent source. Finally, without starting from an evolutionary bias, the study of genetics helps us understand that the variety of animal kinds on the earth could never lead back to a single ancestor.

Add all that up and you’re left with an inescapable conclusion: there must be a powerful and super-wise Creator. With such a Creator, you no longer need billions of years. He could create everything in much less time—say . . . six days.

According to the Bible, this Creator—God—did exactly that. He gave us a clear record (the Bible) of how He created the world, how long it took Him, how humans fell into sin, and how God the Son (Jesus) came to earth to save us. And of that you can be 100 percent certain. After all, God doesn’t leave anything to chance—not in a billion years (if there had really been that much time, that is).

(下面中文使用谷歌翻译。需要修正和编辑。)
没有机会在亿年
听到进化论者告诉它，你需要的是时间。这里得到星系采取了数十亿年和运行，总有几千年的排队了那些烦人的有机化工原料为生命的正确途径，一个划时代或变形的一些类人猿到人​​类的生物。
的演变听起来令人难以置信的神秘的方式，身着十年，几百年和亿万。但所有这些年来，其实只是掩盖了更深层次的问题。
虽然进化论者折腾像足球多年，他们忽略了一个根本性的缺陷在达尔文的想法。那是什么？甚至万亿年不会有足够的时间来产生的最简单的细胞。
：人赌博，希望克服困难，赢得大。但进化的老虎机有没有机会得到大奖的非生活所产生的生活。
不与所有的世界时间
获取地基DVD系列。
世俗科学教科书，使生命的声音够简单的起源。扔在一些化学物质，ZAP与电力，你已经得到了有机的炖。在一些点长，很久以前，有一个这样的化学药汁神奇的公式，成功击中。在这之后，自然选择和遗传学接手向人类前进。给予足够的时间，这些书向我们保证，这是必然要发生的。
但是，对于生活中的公式是一样乘以零。无论多么大的其他电话号码，你仍然会最终与时时刻刻。换句话说，在尽可能多的时间，只要你喜欢扔仍让你无处。这有点像这样：
年达尔文的想法x 十亿年 × 0（实​​际发生的几率）= 0。
当数学家紧缩的数字，他们来到一些非常惊人的结论。蒙上眼睛的人投掷鹅卵石进入外层空间和击落卫星，然后到后面超速行驶的卡车在公路上的目标崩溃是可能的演化实际发生的机会。即使数十亿年，这是不会发生的。 （对于那些喜欢数学的人，你可以看到这里的一些数字。）
可以肯定的是，达尔文主义者试图按摩那些不可能的赔率，以有利于自己的工作，但没有数量混淆的金额，可以得到周围的事实。时间是不是他们的朋友。
100％的把握
因此，如果进化是不可能的，无论亿万，还有什么存在？这个问题的答案很简单。科学研究的实际观测的基础上，我们没有理由相信生活本身开始。根据生物学规律，生活总是来源于生活。除此之外，信息科学向我们展示的信息（如生命开始所必需的DNA），需要一个智能的来源。最后，没有从进化的偏见开始，遗传学的研究有助于我们了解，在地球上的动物种类的多样性，不可能导致一个单一的祖先。
添加所有你留下一个不可避免的结论：必须有一个强大的和超级明智的造物主。有了这样一个造物主，你不再需要数十亿年。他可以在更短的时间，比如说创造一切。 。 。六天。
据“圣经”，这造物主上帝确实做到了。他给了我们明确了他如何创造了世界纪录（“圣经”），他花了多久，人类如何入罪了，神的儿子（耶稣）来到地球，拯救我们。和你一定是100％。毕竟，上帝不会离开在一亿年中的任何机会，而不是（如果真的有那么多时间，这是）。
Does Evolution Have a . . . Chance?

1. Describe the idea of credulity.

2. What factors make the correct function of a protein so incredible?

3. How do the probabilities of evolutionary events compare to the boundary of probability?

4. Describe one of the objections of evolutionists against the probability arguments and why their argument fails.

是否演变。。。机会呢？
1。形容轻信想法。
2。是什么因素使正确的一种蛋白质的功能，使难以置信？
3。如何进化事件的概率比较边界的概率？
4。描述的反对进化论者对概率的参数和它们的参数失败的原因之一。
What About Eugenics and Planned Parenthood?
Published on April 13, 2010 in Children, Education and Family.

This is the title of a chapter I wrote for the New Answers Book 3 that is now available for purchase online and in the museum bookstore. I tell people that it was literally one of the most difficult book chapters I have ever had to write. The research for the chapter required a lot of reading about the horrific philosophy and practices of the eugenics (meaning good in birth) movement and Planned Parenthood. What I found probably most disturbing is that eugenic practices are still alive and well even today through such organizations as Planned Parenthood.

For the sake of length, I had to summarize much of my research, but I included extensive footnotes. The footnotes include many quotes from people involved in the eugenics movement and Planned Parenthood so that I could not be accused of taking any of their ideas out of context. I encourage you to read them as they give much deeper insight into the anti-God, anti-biblical philosophies behind eugenics. I have included a few excerpts from the chapter below.

The ultimate goal of eugenics was to create a superior race of humans. Many adherents believed in evolution by natural selection, but that natural selection was moving too slowly in favoring the best and eliminating the worst.  They also believed that charity in the form of taking care of the poor and sick was prohibiting natural selection from working properly and thus the need to intervene with artificial selection.

Unfortunately, the eugenics movement in the United States heavily influenced Hitler and his scientists and, in return, many eugenicists and eugenic publications supported the horrifying practices of Hitler’s Nazi regime.  Negative eugenic practices [forced sterilizations, immigration restriction, marriage restriction laws] were even sanctioned by the American government.

The solution proposed by his [Thomas Malthus] followers, like [Margaret] Sanger [founder of Planned Parenthood], was to decrease and eliminate the “inferior” population through birth control (including sterilization and abortion).  Sanger stated, “The most merciful thing a large family can do to one of its infant members is to kill it.”

James Watson, co-discoverer of the structure of DNA, stated in 2003, “If you are really stupid, I would call that a disease. The lower 10 percent who really have difficulty, even in elementary school, what’s the cause of it? A lot of people would like to say, ‘Well, poverty, things like that,’ It probably isn’t. So I’d like to get rid of that, to help lower the 10 percent.”

Life is precious—no matter how short or how impaired that life may be. Contrary to the ideas supported by eugenics and Planned Parenthood, all human life has value because it comes from the Life Giver.

We are currently in the process of taping The New Answers 3 DVD, and this will be one of the featured questions that I will answer.

For those wondering about my cochlear implant, things are going well. I am still in the healing process but everyday there is improvement. Next Monday (April 19) the implant will be activated and the world will be a lot louder place! I will keep you updated here and on my Facebook page (facebook.com/georgiapurdom).

(下面中文使用谷歌翻译。需要修正和编辑。)
关于优生和计划生育的怎么样？
2010年04月13日出版的儿童，教育和家庭。
这是我写了新的答案书3，现在网上有售，并在博物馆书店一章的标题。我告诉人们，这是从字面上我曾经写的最困难的一本书的章节之一。章的研究需要大量阅读关于可怕的理念和做法（即在出生）的优生学运动和计划生育。我发现可能是最令人不安的是优生的做法仍然活着，即使今天通过计划生育等组织。
长的缘故，我总结我的研究很多，但我包含了丰富的注脚。脚注包括许多人参与的优生学运动和计划生育引号，这样我就可以不被指控的情况下采取任何自己的想法。我鼓励你读他们，因为他们给反神，反圣经优生学背后的理念更深入的了解。我已经包含了几个从下面的章节摘录。
优生学的最终目标是创造一个优越的人类种族。许多信徒相信通过自然选择，但在进化过程中的自然选择有利于最好和消除最坏的速度太慢。他们还认为，在正常工作照顾贫病被禁止的自然选择，因此需要人工选择干预的形式，慈善。
不幸的是，在美国的优生学运动严重影响了希特勒和他的科学家，作为回报，许多优生学和优生的出版物支持希特勒纳粹政权的可怕做法。负强迫绝育​​，限制移民，婚姻限制法律]优生的做法，甚至美国政府的批准。
他马尔萨斯追随者提出的解决方案，像玛格丽特·桑格[计划生育]的创始人，是通过节育（含绝育和人工流产）“劣质”人口减少和消除。桑格说，“最仁慈的事情可以做一个大家族其婴儿成员之一，是要杀死它。”
DNA结构的共同发现者詹姆斯·沃森在2003年指出，“如果你真的是愚蠢的，我想称之为一种疾病​​。低10％的人真正有困难的，即使在小学，它的原因是什么？很多人喜欢说，'嗯，贫困，这样的事情，“这可能是没有。所以我想，摆脱，以帮助降低了10％。“
生命是宝贵的，不管如何短期或如何受损，生活可能。相反，支持优生和计划生育的思想，所有的人的生命价值，因为它赐予生命。
目前，我们正在录音新的答案3的DVD的过程中，这将是一个功能的问题，我会回答。
对于那些想对我的人工耳蜗植入，一切都很顺利。我仍然在治疗过程中，但每天有改善。下星期一（4月19日）植入物将被激活，世界将是很多响亮的地方！我将保持你在这里，我的Facebook页面（facebook.com / georgiapurdom）的更新。
What about Eugenics and Planned Parenthood?

1. What does the term eugenics refer to and how did it originate?

2. When and where have the ideas of eugenics been practiced?

3. What is the connection between the eugenics movement and Planned Parenthood?

4. What is the biblical response to the ideas of eugenics?

关于优生和计划生育呢？
1。什么长期优生学指和它是如何起源的呢？
2。当优生学的思想和实践？
3。什么是优生学运动和计划生育之间的连接？
4。什么是“圣经”的回应优生学的思想？
Grand Canyon

November 4, 2009

Layman
· geology
· grand-canyon
The scenic grandeur of Grand Canyon stirs awe-inspired emotion in the millions of visitors who make their way every year to northwestern Arizona. Hardly anything else in the world gives such insight into the geologic timescale of the earth better than this “hole in the ground.” And no other natural wonder causes more contention either. Grand Canyon extends over 250 miles (400 km) through the Colorado Plateau, stretches from 4 to 18 miles (6–30 km) wide and reaches down more than a mile (1.6 km).

Layer after layer of exposed strata provide a spectacular sight for each Canyon guest. The lowest and first of the four major divisions of rock units is made up of many granites, including the Zoroaster Granite, and the Granite Gorge Metamorphic Suite, which includes the Vishnu Schist, forming the crystalline basement of igneous and metamorphic rocks, respectively. Directly above them is the second major division, the Grand Canyon Supergroup, which are tilted layers of strata showing evidence of tectonic activity. The third major division contains horizontally stratified layers in the walls of the Canyon made up of sedimentary deposits in nine distinct layers. The fourth major division includes very localized strata which were deposited on the erosion surface on top of the Kaibab Plateau, and consist of river gravels, lake sediments, landslide deposits, and lava flows. Throughout many of the layers exposed in the walls of Grand Canyon, one can find fossils of marine organisms such as brachiopods, corals and mollusks, as well as sometimes the fossilized footprints and trackways of amphibians and reptiles, ferns, and other plants. Many of these show evidence of rapid burial.

Formation

Evolutionary explanation

The evolutionary explanation of the Canyon’s formation begins many years ago—in fact, billions of years ago. Basement rocks in Grand Canyon are metamorphic rocks seen as remains of a variety of sediments and volcanic rocks deposited nearly two billion years ago. After granite intrusion episodes, and erosion beginning about 1.5 billion years ago, the whole region was under water. Over hundreds of millions of years, sedimentary and basalt layers were formed. Uplift, tilting and massive erosion followed, before about 550 million years ago the ocean waters moved in and covered the land again to deposit more sediment layers and then retreated. Repeated inundations built up over a mile (1.6 km) of sedimentary rocks in horizontal layers. About 70 million years ago the Colorado Plateau was uplifted, and since then the Colorado River began flowing across the plateau, threading its way and slowly carving its path into all the previously formed rock layers until it reached its present course, millions of years later. Annual seasonal floods in its drainage basin supposedly increased the momentum and volume of water flow, picking up rocks and other debris which tore away at the river’s bottom to eventually carve out the Grand Canyon.

Biblical explanation

[image: image20.jpg]


The biblical explanation for how the Canyon formed is actually quite simple. The “basement” layers, consisting of granites and metamorphic rocks, were formed by Day 3 of Creation Week. Some sedimentary layers were deposited on these rocks late in the Creation Week and during the pre-Flood period. The horizontal sedimentary layers were then deposited over all other rocks by the waters of the global Flood as described in Genesis 7-8. These unhindered, swirling currents picked up, transported and eventually deposited tons of sedimentary layers. These strata were then in places tilted and went through great tectonic activity as the Colorado Plateau was uplifted during the final stages of the Flood. The sedimentary layers which make up the nine distinct layers of the third major division of the Canyon walls show that they were soft and unconsolidated when they bent, unlike the basement rocks which fractured. The sand grains in these sedimentary layers show no evidence that the material was brittle and rock-hard, and neither has the mineral cementing the grains been broken. Instead, the evidence points to the whole 4,000-feet (1.220 m) thickness of horizontal strata being still “plastic” when it was uplifted and bent. Once the floodwaters receded, the recently placed layers of sediment continued to harden into rock. As the floodwaters receded, the uplifted plateau acted like a dam wall, trapping the waters behind it. In a subsequent catastrophic event, this earthen dam ruptured, releasing a barrage of water that carved the Canyon itself..

Dating

Evolutionary view

As evolutionary geologists have studied Grand Canyon, many rock samples have been taken to recognized laboratories in attempts to date these rocks. The main method used in these studies is the radioisotope dating method, which is based on the rate of decay of radioactive isotopes. However, it is important to realize that the results of such tests yield only relative amounts of the parent and daughter isotopes, not an actual “age”—it is from these measurements that an “age” is calculated. Because all such age-dating methods are based on assumptions, these methods tend to be unreliable. It has been shown many times that samples taken from the same rocks produce different dates! Additionally, tests on rocks of known age have yielded false results. Many times scientists overlook these “incorrect” dates in order to fit them into their presuppositions about the earth’s age.

Biblical view

Since the Bible says that the earth is only about 6,000 years old, Grand Canyon could not have formed millions of years ago. The layers, fossils and other natural wonders of Grand Canyon confirm that the earth was transformed from its original state by a world-altering catastrophe and its after-effects. That catastrophe was the global Flood as recorded in Scripture.

Consider it

Grand Canyon cuts through the landscape of northern Arizona as no other natural feature on Earth. It also cuts through the shaky foundation of evolutionary interpretations that are given to each of the Canyon’s layers. Grand Canyon does not speak of millions of years of formation; it clearly testifies of rapid formation by a land-transforming catastrophe and its after-effects. The fossils entombed in the sediments of the Canyon also remind us of God’s terrible judgment on sin and of the salvation He offers.

(下面中文使用谷歌翻译。需要修正和编辑。)
大峡谷
九年十一月四日
门外汉
宏伟的峡谷地质
风景秀丽的大峡谷的宏伟搅拌在做他们的方式，每年向亚利桑那州西北部的游客数以百万计的敬畏启发情绪。几乎世界上任何其他使地球比这更好的地质时间表这样的见解：“在地面的洞。”没有其他的自然奇观，导致更多的争。大峡谷通过科罗拉多高原延伸超过250英里（400公里），从4到18英里（6-30公里）宽的延伸，达到下跌超过一英里（1.6公里）。
一层一层露的地层后，每个峡谷旅客提供了一个壮观的景象。最低和岩石单元的四个主要部门首先是许多花岗岩组成，包括琐罗亚斯德花岗岩，花岗岩峡谷变质套房，其中包括毗湿奴片岩，火成岩和变质岩，分别形成结晶基底。直接在他们之上的第二大分工，大峡谷超群，这是倾斜层的地层构造活动的证据显示。第三个主要部门包含水平分层层沉积矿床在9个不同层次的峡谷墙壁。第四个主要部门包括非常本地化的凯巴布高原上的侵蚀表面上沉积的地层，砾石河流，湖泊沉积物，滑坡存款，熔岩流组成。整个大峡谷的墙壁暴露许多层，可以发现海洋生物化石，如腕足类，珊瑚和软体动物，以及有时化石脚印，两栖类和爬行类动物跟踪途径，蕨类植物，和其他植物。这些显示快速埋藏的证据很多。
编队
进化的解释
峡谷的形成演化的解释很多年前开始，事实上，数十亿年前。在大峡谷的基岩变质岩被视为各种沉积物和沉积近20亿年前的火山岩石的遗迹。花岗岩入侵事件，和侵蚀约1.5亿年前开始后，整个地区被水淹没。数亿年，沉积和玄武岩层形成。隆起，倾斜和大规模的侵蚀之前，约550亿年前的海洋水域和覆盖的土地，再存入更多的沉积层，然后撤退。建在一个水平层的沉积岩英里（1.6公里）的重复洪水。约70万年前科罗拉多高原抬升，并自此开始的科罗拉多河，流经高原的，线程的方式，慢慢地雕刻成所有以前形成的岩石层，直至达到其本课程，数百万年后其路径。据说在其流域每年季节性洪水增加的势头和水流量，捡石头和其他碎片撕毁在远离河流的底部，最终能开出大峡谷。
圣经的解释
圣经的解释是如何形成的峡谷其实很简单。 “地下室”层，花岗岩和变质岩组成，形成由3日一周的创作。在这些岩石中后期创作周前汛期期间，一些沉积层沉积。水平的沉积层，然后敷在创世记7-8中所述的全球性洪水水域超过所有其他岩石。这些入无人之境，漩涡电流回升，运输和最终沉积层沉积吨。这些阶层倾斜的地方，然后去科罗拉多高原抬升洪水期间的最后阶段，并通过巨大的构造活动。弥补第三大峡谷墙的主要分工九个不同层次的沉积层表明，他们是柔软和松散当他们弯下腰，其中骨折不像基岩。这些沉积层中的沙粒表明没有证据表明，脆，坚硬的材料，没有矿物胶凝颗粒被打破。相反，证据指向整个4000英尺（1.220米）水平地层的厚度仍然是“塑料”，当它被抬升和弯曲。一旦洪水退去，最近放置的泥沙层继续硬化成岩石。随着洪水退去，高原的隆起犹如一个大坝的墙，它背后的水域捕获。在随后的灾难性事件，这个土坝破裂，释放出的水雕峡谷本身的攻势......

约会
进化观点
由于进化地质学家研究大峡谷，许多岩石样品已采取认可的实验室在尝试更新这些岩石。在这些研究中所使用的主要方法是放射性同位素测年方法，这是基于对放射性同位素的衰变率。然而，重要的是要认识到，这种测试的结果产量只有相对数量的父母和女儿的同位素，而不是一个实际的“年龄”，“年龄”的计算方法是从这些测量。因为所有这些测年方法的假设为基础，这些方法往往是不可靠的。它已被证明了多次，从相同的岩石样本产生不同的日期！此外，已知年龄的岩石测试产生错误的结果。多次科学家忽视这些“不正确”的日期，以适应其对地球的年龄前提。
圣经的看法
因为圣经上说，地球是只有约6000岁，大峡谷无法形成数百万年前。层，化石和大峡谷等自然奇观证实，地球从它的原始状态转化，改变了世界的灾难及其后遗症。这场灾难是全球性的洪水记录在圣经。
认为这是
大峡谷切断，因为没有其他地球上的自然特征，通过亚利桑那州北部的景观。这也大大削减了稳固的基石是给每一个峡谷层的进化诠释。大峡谷不说话百万年前形成的，它清楚地证明由土地转化灾难及其后遗症的快速形成。在大峡谷的沉积物掩埋的化石也提醒我们神对罪的可怕的判断和他提供的救恩。
When and How Did the Grand Canyon Form?

1. Describe the relationship between the Colorado River, the Colorado Plateau, and the Grand Canyon.

2. What is significant about the altitude of the headwaters of the Colorado River and the Kaibab Plateau?

3. What physical evidence exists that refutes the uniformitarian explanations of the canyon?

4. How can we explain the formation of the Grand Canyon in light of what is revealed in Scripture? 

何时以及如何做了大峡谷的表格？
1。描述的科罗拉多河在科罗拉多高原，大峡谷之间的关系。
2。什么是对的科罗拉多河的源头和凯巴布高原的海拔高度显着？
3。身体有什么证据，驳斥峡谷均变解释？
4。我们如何解释什么是圣经中透露，在大峡谷的形成？
The Age of the Universe, Part 2
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[Web editor’s note: The first part of this chapter discusses the big bang’s underlying assumptions, distant starlight, and creation compromises and introduces the evidences for a young universe. Part 2 continues listing these evidences. For a more technical treatment, see the in-depth box below.]

Recession of the Moon

As the moon orbits the earth, its gravity pulls on the earth’s oceans, causing tides. Since the earth rotates faster than the moon orbits, the tidal bulges induced by the moon are always “ahead” of the moon. For this reason the tides actually “pull forward” on the moon, which causes the moon to gain energy and gradually spiral outward. The moon moves about an inch and a half farther away from the earth every year due to this tidal interaction. Thus, the moon would have been closer to the earth in the past.
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Six thousand years ago, the moon would have been about 800 feet (250 m) closer to the earth (which is not much of a change considering the moon is nearly a quarter of a million miles, or 400,000 km, away). So this “spiraling away” of the moon is not a problem over the biblical time scale of 6,000 years, but if the earth and moon were over 4,000,000,000 years old (as big-bang supporters teach), then we would have big problems. This is because the moon would have been so close that it would actually have been touching the earth less than 1.5 billion years ago. This suggests that the moon can’t possibly be as old as secular astronomers claim.

Secular astronomers who assume the big bang is true must invoke other explanations to get around this. For example, they might assume that the rate at which the moon was receding was actually smaller in the past (for whatever reason), but this is an extra assumption needed to make their billions-of-years model work.

The simplest explanation is that the moon hasn’t been around for that long. The recession of the moon is a problem for a belief in billions of years, but is perfectly consistent with a young age.

The Magnetic Field of the Earth

Most people have some familiarity with magnets, like the kind that stick to a refrigerator door. Magnets have an almost “magical” ability to attract other magnets or certain metals separated by a distance—they seem to reach out over space and pull with invisible fingers. The region of space surrounding a magnet which exerts a force on other magnets is called a “magnetic field.” Magnetic fields are caused by electric current—motion of charged particles.4
The earth’s magnetic field is approximated by a “dipole”—meaning the magnet has one north pole and one south pole. This dipole is roughly aligned with the earth’s rotation axis (being off by about 11.5 degrees). That is, the north magnetic pole is close to the north rotation pole. This is why a compass points approximately north; it aligns with the geomagnetic field. This magnetic field surrounds the earth and is an important design feature. The universe contains radiation which is harmful to living tissue. Earth’s magnetic field protects life by deflecting dangerous cosmic radiation. The atmosphere also offers some protection.
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The earth’s magnetic field

The earth’s magnetic field is caused by electric currents within its interior. Such currents encounter electrical resistance, and so they naturally decay with time. We would therefore expect that earth’s magnetic field would become weaker as time progresses. We have been able to measure the strength of the magnetic field for over a century, and not surprisingly, the earth’s magnetic field is indeed decaying. Every century, the magnetic field decays by about 5 percent. Since the earth’s magnetic field gets weaker as time moves forward, it must have been considerably stronger in the past. Approximately 6,000 years ago, the magnetic field would have been quite a lot stronger, but still perfectly suitable for life.

However, if the earth were many millions of years old, then the geomagnetic field would have been so strong in that alleged distant past, that life would not have been possible.5
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	Jupiter’s aurora
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	Saturn’s magnetic field


Magnetic Fields of the Planets

Many of the planets of the solar system also have strong dipole magnetic fields. Jupiter’s magnetic field, for example, is extremely powerful. The magnetic fields of Uranus and Neptune are also quite strong. If these planets were really billions of years old (as secular astronomers believe), their magnetic fields should be extremely weak by now. Yet, they are not. A reasonable explanation for this is that these planets are only a few thousand years old, as the Bible teaches.

The suggestion that the solar system is only thousands of years old is, of course, an intolerable position for those who believe in particles-to-people evolution. The vast ages are required for their worldview, and so must be protected at all costs. Therefore, the apparent youth of the universe must be explained away by the addition of auxiliary hypotheses. For example, secular astronomers have proposed that planetary magnetic fields can be “recharged” over time. Specifically, they invoke the idea of a “magnetic dynamo” powering the magnetic fields of planets. The basic idea is that motion within the planets can regenerate the magnetic fields so that the total field strength will not decay. However, the planets do not fit the conditions necessary to drive such a dynamo. The simplest explanation is that the solar system is much younger than billions of years.

Magnetic Fields Confirm Recent Creation

Dr. Russ Humphreys, (a Ph.D. physicist and biblical creationist) has produced a model of planetary magnetic fields which can explain their present strengths in terms of biblical creation.10In essence, the model estimates the initial strength of each magnetic field at the moment of its creation, then the model computes their present strengths based on 6,000 years of decay from electrical resistance. Impressively, this biblically based model is able to account for the present measured magnetic fields of all the known planets11 and even many of the moons as well.

Of course, almost any model can be “adjusted” to fit existing data, so it is perhaps even more impressive that Dr. Humphreys’ model successfully predicted the present magnetic field strengths of the planets Uranus and Neptune before they were measured by the Voyager spacecraft. Specific, successful predictions are the mark of a good scientific model. Dr. Humphreys also predicted that Mars would have remanent (permanent) magnetism, which has now been confirmed.12 Remanent magnetism occurs in rocks which cooled and solidified in the presence of an external magnetic field. Such remanent magnetism is also found on the moon. This confirms that both the moon and Mars once had strong magnetic fields as expected in the Humphreys model. Planetary magnetic fields strongly support the biblical age of the solar system.

Spiral Galaxies

A galaxy is an enormous assembly of stars and interstellar gas and dust. Galaxies occur in a range of sizes and can contain anywhere from a million to a trillion stars. Our galaxy (the Milky Way) contains over 100 billion stars. Galaxies also come in a range of shapes. Many are round or elliptical in nature. Others have an irregular shape, such as the clouds of Magellan—two satellite galaxies of the Milky Way. Some of the most beautiful galaxies are spiral in nature. A spiral galaxy has a flat-disk shape with a central bulge. The disk section contains spiral arms—regions with greater numbers of stars which extend from the periphery of the galaxy to the core.
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Differential rotation of a spiral galaxy

Spiral galaxies slowly rotate, but the inner regions of the spiral rotate faster than the outer regions; this is called “differential rotation.”13This means that a spiral galaxy is constantly becoming more and more twisted up as the spiral becomes tighter. After a few hundred million years, the galaxy would be wound so tightly that the spiral structure would no longer be recognizable. According to the big-bang scenario, galaxies are supposed to be many billions of years old, yet we do see spiral galaxies—and lots of them. This suggests that they are not nearly as old as the big bang requires. Spiral galaxies are consistent with the biblical age of the universe, but are problematic for a belief in billions of years.

Secular astronomers have proposed “spiral density waves” to create new spiral arms as old ones become twisted beyond recognition. The idea is that waves of pressure travel around the galaxy and stimulate new star growth. Of course, such waves have not been observed, so the idea remains a conjecture. Furthermore, the spiral density wave notion assumes that stars can form spontaneously. Although virtually all secular astronomers assume this, star formation has significant problems of its own. Furthermore, there are difficulties in starting any supposed density wave in the first place. Such complications are not necessary if we accept the most straightforward interpretation of the evidence: galaxies are not billions of years old.

Comets
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	Interior view of a comet
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	Hale-Bopp comet
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	Artist rendition of the (purely hypothetical) Oort cloud as seen from the Alpha Centuri system


Comets are balls of ice and dirt which orbit the sun, often in highly eccentric orbits. The solid central portion of a comet is called the nucleus. Comets generally have a region of vaporized material surrounding them which appears as a faint “fog”—this is called the “coma.” Comets spend most of their time moving slowly near the point in their orbit that is farthest from the sun (aphelion). As they approach the sun, they speed up and slingshot around the sun, moving fastest at the closest point (perihelion). It is during these points of close approach that many comets develop a “tail”—a stream of vaporized material which extends away from the comet. The tail points away from the sun, because the material is swept away by solar wind and radiation. Often two tails develop: an ion tail consisting of light charged particles, and a dust tail containing heavier materials. The ion tail is slightly blue in color; it is straight and points directly away from the sun. The dust tail is white and is generally curved. Sometimes only one of the two tails is visible.

A comet’s tail (or tails) is an indication that comets cannot last forever. The tail means that the comet is losing material; a comet gets smaller every time it orbits the sun. It has been estimated that a typical comet can only orbit the sun for about 100,000 years at most before completely running out of material. (This is an average figure, of course; the exact life span would depend on how big the comet is to begin with, and the parameters of its orbit.) Since we still have a lot of comets, this suggests that the solar system is much younger than 100,000 years. This agrees perfectly with the Bible. Clearly, 4.5 billion years would be an absurdly inflated age for comets.

How do secular astronomers attempt to reconcile this with their belief in billions of years? Since comets can’t last that long, secular astronomers must assume that new comets are introduced to the solar system to replace those that are gone, so they’ve invented the idea of an “Oort cloud.”14 This is supposed to be a vast reservoir of icy masses orbiting far away from the sun. The idea is that occasionally an icy mass falls into the inner solar system to become a “new” comet. It is interesting that there is currently no evidence of an Oort cloud, and there is no reason to believe in one if we accept the creation account in Genesis. Comets are consistent with the fact that the solar system is young.

Conclusions
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	This NASA Hubble Space Telescope image shows one of the most complex planetary nebulae ever seen, NGC 6543, nicknamed the “Cat’s Eye Nebula.” Hubble reveals surprisingly intricate structures including concentric gas shells, jets of high-speed gas and unusual shock-induced knots of gas.


Clearly, there are many evidences which are fully consistent with the biblical age of the universe and are difficult to reconcile with a belief in billions of years. They are not “proofs,” since big-bang supporters can always invent non-falsifiable conjectures to explain away these evidences, but we have seen that when we use the Bible to understand the age of the universe, the evidence is certainly consistent.

In most of the arguments for a young universe discussed above, we have used uniformitarian and naturalistic assumptions, which of course we do not accept. We have deliberately used the assumptions of the opposing point of view to show that these assumptions lead to contradictions. For example, we showed that assuming that the moon formed naturalistically 4.5 billion years ago, and that the rate of spiraling away hasn’t deviated (from the constant 1/r6 relation) then the moon can’t be older than 1.5 billion years—a contradiction. Such inconsistencies are common in non-biblical worldviews.

Uniformitarianism is a blind philosophical assumption; it is not a conclusion based on evidence. Furthermore, it is incompatible with the Bible. The present is not the key to the past. Just the opposite: the past is the key to the present! The Bible is the revealed Word of the Creator God who knows everything, and has given us an accurate account of history. The Bible (which tells us about the past) is the key to understanding the present world. When we start with the Bible as our presupposition, we find that it makes sense of the world. Of course the planets would have strong magnetic fields; of course galaxies would not be twisted up; and of course we still have comets. These are what we would expect in a biblical worldview. The Bible is true, and the evidence confirms that the universe is thousands of years old.

Creation In-Depth:

Recession of the Moon

Tidal bulges develop on earth because the moon is closer to one side of the earth than the other, and thus its gravity pulls harder on the near side. This causes the overall shape of the earth to be slightly elliptical. The height of the tidal bulges would be greater if the moon were closer to the earth. The earth rotates faster than the moon revolves; thus, the tidal bulges are always ahead of the moon. Since they pull forward on the moon, the bulges transfer angular momentum and kinetic energy—increasing the moon’s orbital energy and causing it to move away from the earth. The rate of this recession is approximately proportional to the inverse sixth power of the earth-moon distance. As a rough estimation, this can be shown as follows:

The tidal bulges are approximated as a dipole (two points separated from the center of the earth). The dipole separation is proportional to 1/r3, where r is the earth-moon separation.1So, we would expect that tidal bulge height goes as roughly h=1/r3. However, the force with which the tidal bulges pull back on the moon also goes as h/r3 for a given height (h). So we expect the rate of tidal recession goes as approximately 1/r6.

It follows that the equation describing tidal recession is:

dr/dt = k/r6
The constant k can be found using the current measured rate of lunar recession: 3.8 cm/year. Thus, k = r6dr/dt = (384,401km)6 x (.000038km/year) = 1.2 x 1029 km7/year. The lunar recession equation is then solved for the extreme case (the upper limit on age of the moon):
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Here, T is the maximum age for the moon since this assumes it migrated from a distance of zero to its current distance of R = 384,401 km. Plugging in the known values gives an upper limit on the age of the earth-moon system of T = 1.5 billion years—much less than the 4.5 billion years that evolutionists require.

Since critics of biblical creation cannot accept this conclusion, they are forced to adopt secondary assumptions to make the evidence fit. Some have suggested that k may not be constant in time; perhaps the different distribution of continents in the past affected the tidal breaking of the earth’s oceans. This speculation does not necessarily solve the problem though. First, a different continental distribution does not guarantee that k would be smaller; if it were larger, then the problem would be even worse.

Second, k would have to be substantially smaller in order to ameliorate the problem. Third, geological evidence argues against this claim, even if we accept the evolutionary/long-age interpretation of such evidence. Studies of tidal rhythmites performed by secular scientists are consistent with k being approximately constant over geologic time (assuming the evolutionists’ dating methods).2 Furthermore, there is no evidence of the extreme tides that would have resulted from a moon that is very close to the earth.3 Of course, this is what biblical creationists would expect, since the moon was only about 800 feet (250 m) closer at creation, roughly 6,000 years ago.

Getting Around the Magnetic Field Evidence

The straightforward interpretation that the earth is not billions of years old is, of course, an intolerable conclusion for evolutionists. Additional assumptions are therefore required to explain this evidence within the naturalist’s worldview. So far, however, the secular explanations have not been able to endure careful scrutiny. For example, some secular scientists have suggested that only the dipole component of earth’s magnetic field has been decaying, and that the non-dipole components have increased in energy to compensate. They’ve suggested that the overall energy of earth’s magnetic field has not decreased. However, this is not the case; any increase in the non-dipole field has been shown to be much smaller than the decrease in the dipole field.6 Thus, the total energy of the earth’s magnetic field is decaying and therefore supports a recent creation.

Magnetic Dynamo Versus Magnetic Decay

Magnetic and electrical energy can be generated from mechanical energy (motion). This is how the alternator in a car works. Undoubtedly, there are places in the universe where mechanical energy is converted into magnetic fields. It seems likely that the sun undergoes just such a process; it reverses its magnetic field every 11 years. Many secular astronomers assume that the planets also undergo such a process (though this has not been observed in the present). However, the fact that such processes can occur (and there is good evidence for magnetic reversals preserved in earth rocks, for which there is a respectable creationist theory7) does not necessarily solve the problem of strong magnetic fields for an “old” universe.

First, an electromagnetic-mechanical system must be set up in just the right way in order to cause the total magnetic field energy to increase. There is no guarantee that vigorous motions which cause magnetic field reversals could actually recharge the total magnetic field energy and prevent it from decaying with time. In fact, such magnetic field reversals might actually accelerate the decay of the total field strength—as may be the case with the sun.8
Second, there are a number of good reasons to believe that the magnetic fields of the planets are not dynamos, and are much different than that of the sun. The sun is so hot that most of its atoms are ionized—the electrons have been stripped away from the nucleus in a state called “plasma.” Plasma is highly sensitive to magnetic fields, and interacts with them much more strongly than neutral gas. The turbulent motions within the sun are constantly generating chaotic bits of magnetism. However, the planets are not made of plasma and do not exhibit the kinds of motions we see in the sun. Additionally, in the process by which the sun is thought to reverse its magnetic field, the rotation axis should be almost exactly aligned with the magnetic poles. This is the case for the sun, but not for the planets. In fact, the planets Uranus and Neptune have magnetic fields which are tilted severely relative to their respective rotation axes.
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The sun also possesses powerful toroidal magnetic fields (in addition to a dipole field). Instead of having a north and south magnetic pole, toroidal magnetic fields make a complete loop around the sun, forming bands parallel to the solar equator. At least one band exists in the Northern Hemisphere, and another is in the Southern Hemisphere with opposite polarity. Sunspots generally occur at the latitudes of these toroidal bands. These toroidal magnetic fields are critical in the process of reversing the sun’s magnetic field, and yet the planets do not show evidence of strong toroidal magnetic fields. Moreover, there is no evidence that the magnetic fields of the planets are reversing today as the sun’s does.9 The magnetic fields of the planets today are consistent with the simple decay produced by electrical resistance.

Dr. Humphreys’ model of planetary magnetic fields

Dr. Russ Humphreys has produced a creation-based model of planetary magnetic fields. This model proposes that when God created the planets of the solar system, He made them first as water which God then supernaturally changed into the substances of which the planets are comprised today. This idea may be suggested (at least for the earth) in passages such as 2 Peter 3:5. Water molecules can have a small magnetic field of their own due to the quantum spin of the proton in each of the two hydrogen atoms. If a significant fraction of these molecular magnetic fields were aligned when the planets were first created, they would add to produce a strong dipole magnetic field. Although the molecular alignment would quickly cease due to random thermal motion of the molecules, the magnetic field would induce electric currents which would maintain the strength of the magnetic field. After God transforms the water into other materials, the electric current maintaining the magnetic field will begin to decay as it encounters electrical resistance within the material. The greater the electrical conductivity of the material, the longer it will take for the magnetic field to decay. To compute the current magnetic field of any given planet, we simply need to know the initial magnetic field strength of the planet, and then reduce this by the decay after 6,000 years. This is determined by (1) the amount of alignment (k) of the original magnetic fields, and (2) the size of the planet’s conductive core. A larger, more conductive core will allow electric currents to last longer; thus, the magnetic field will take longer to decay.

The mass of each of the planets is well known and can be computed very precisely from the periods of any orbiting moons (or the trajectories of nearby space probes). The core size and conductivity can be estimated as well. The only free parameter of the model is the amount of initial alignment which could be between k=0 (no molecular alignment) and k=1 (maximum alignment). Dr. Humphreys now thinks that the data are most consistent with k=1. Using such a value, the earth’s present magnetic field is perfectly consistent with this model. Furthermore, since k cannot be greater than 1, this sets an absolute upper limit on all the magnetic fields of the sun and planets today. Indeed, none of the known magnetic fields in the solar system exceeds the upper limit predictions based on this model, yet the evidence is compelling that they would have been reasonably close to this limit at their creation roughly 6,000 years ago. The evidence fits very well with the biblical time scale.

Footnotes

1. The fact that a dipole force produced by two objects on a third object is proportional to 1/r3 can be derived from a binomial expansion on the equation of gravity (F=-GmM/r2). Such a derivation is available in many introductory physics textbooks on the topic. Back
2. C.P. Sonett, E.P. Kvale, A. Zakharian, M.A. Chan, and T.M. Demko, “Late Proterozoic and Paleozoic Tides, Retreat of the Moon, and Rotation of the Earth,” Science 273 (1996): p. 100–104. Back
3. Ibid., p. 101. Back
4. The creationist scientist James Clerk Maxwell discovered the four equations which govern the behavior of electric and magnetic fields. Magnetic fields are caused by electric current or a change in an electric field. Electric fields are caused by charged particles, or a change in a magnetic field. Back
5. For this example, we neglect the effects that the Genesis Flood would have had on the magnetic field. It is thought that the extensive and rapid tectonic activity associated with the Flood would have disrupted the circulating currents in the core, causing rapid, successive reversals of the magnetic field. Such an effect is consistent with alternating bands of remnant magnetism found by geomagnetic ocean floor surveys, for example. It is thought that such a process will cause a net reduction in the overall energy of the earth’s magnetic field, thus causing it to decay at an accelerated rate. As such, it would only make the problem worse for a many-millions-of-years-old earth. Back
6. D.R. Humphreys, “The Earth’s Magnetic Field is Still Losing Energy,” Creation Research Society Quarterly 39 (June 2002). Back
7. D.R. Humphreys, “Reversals of the Earth’s Magnetic Field During the Genesis Flood,” Proc. First ICC, Pittsburgh, PA, 2:113-126, 1986. Back
8. This has been suggested by Dr. Russ Humphreys in his article on “The Creation of Planetary Magnetic Fields” available online at: www.creationresearch.org/crsq/articles/21/21_3/21_3.html. Back
9. There is evidence that the earth experienced temporary reversals during the Flood year due to the tremendous tectonic activity disrupting the circulation of electric currents in the core. Back
10. D.R. Humphreys, “The Creation of Planetary Magnetic Fields,” Creation Research Society Quarterly 21 (3) (December 1984). Back
11. However, Pluto’s magnetic field has not yet been measured. According to Dr. Humphreys’ model, Pluto should not have an appreciable magnetic field. Back
12. www.creationresearch.org/creation_matters/pdf/1999/cm0403.pdf, p. 8. Back
13. In quantum physics, particles often behave as if they are rotating. This property is called “spin” because the particles possess angular momentum. This is similar to the rotation of larger objects except that on the quantum level the angular momentum comes only in discrete quantities. Back
14. Named after Dutch astronomer Jan Oort. Back
(下面中文使用谷歌翻译。需要修正和编辑。)
宇宙的年龄，第2部分
杰森博士Lisle March 20，2008

门外汉
作者贾森 - 莱尔太阳系地球年龄天文学年轻的年龄证据
[网站编者按：本章的第一部分论述了大爆炸的基本假设，遥远的星光，和创造的妥协，并介绍了一个年轻的宇宙的证据。第2部分继续列举这些证据。为更多的技术处理，深入框下面。]

月球的经济衰退
由于月球绕地球，它的引力拉在地球上的海洋，造成潮汐。由于地球的旋转速度比月球轨道，由月亮引起的潮汐凸起总是“超前”的月亮。潮汐出于这个原因其实是“向前拉”在月球上，这将导致月球，以获得能源和逐步螺旋向外。月亮远离地球约一英寸半移动每年因这种潮汐相互作用。因此，月亮已经在过去接近地球。
六千年前，月球已经约800英尺（250米）接近地球（这是不考虑月球的变化，是近100万英里，一季度或40万公里，距）。所以这个“螺旋”月亮是不是比6000年的圣经时间尺度的问题，但如果地球和月球均超过40亿年岁（作为大爆炸的支持者教），那么我们将有大的问题。这是因为月亮已经如此接近，它实际上已触及不到1.5亿年前的地球。这表明，月球不能可能为老世俗天文学家声称。
假设大爆炸是真实的世俗天文学家必须调用其他的解释，来解决这个问题。例如，他们可能会认为，月亮后退的速度，实际上是在过去的小（无论何种原因），但是这是需要一个额外的假设，以使他们的数十亿年模型工作。
最简单的解释是，月球一直没有那么长的时间左右。月亮的经济衰退是在数十亿年的信仰问题，而是一个年轻的年龄是完全一致的。
地球磁场
大多数人都有一些熟悉与磁铁一样，那种坚持到冰箱门。磁铁有一个几乎“神奇”的能力，以吸引其他的磁铁或某些金属分隔的距离，他们似乎达到了空间与无形的手指拉。对其他磁铁的力量磁铁周围空间的地区被称为“磁场”。磁场电目前收取粒子。4运动引起的
地球的磁场近似“偶极”，意思是磁铁有一个北极和一个南极。这偶极大致对齐与地球的旋转轴（约11.5度）。也就是说，北磁极是接近北旋转极。这是为什么指南针指向约北部，它与地球磁场的赞同。这个磁场环绕地球是一个重要的设计特点。宇宙中的辐射是有害的活组织。地球的磁场保护偏转危险的宇宙射线辐射的生命。气氛也提供了一些保护。
地球的磁场
地球的磁场在其内部的电流引起的。这种电流遇到电阻，所以他们自然随时间衰减。因此，我们期望，地球的磁场会越来越弱，随着时间的推移。我们已经能够测量的磁场强度为一个多世纪以来，这并不奇怪，地球的磁场确实是腐烂。每一个世纪，约5％的磁场衰变。由于地球的磁场变弱，随着时间的前进，它必须已经在过去相当强。约6000年前，将有磁场要强上不少，但仍然完全适合于生命。
然而，如果地球是几百万岁，则磁场会一直在遥远的过去，指称这么强，不会一直生活可能。5

木星的极光
土星的磁场
行星的磁场
许多太阳系的行星也有强大的偶极磁场。木星的磁场，例如，是一个非常强大。天王星和海王星的磁场也相当强劲。如果这些行星是真的岁的十亿美元（世俗天文学家认为），现在应该是极其微弱磁场。然而，事实并非如此。一个合理的解释是，这些行星都只有几千岁，因为圣经教导。
太阳系只有几千岁的建议，当然是不能容忍的位置，相信在颗粒到人的进化的人。广阔的年龄要求为他们的世界观，因此必须不惜一切代价保护。因此，宇宙的表观青年必须通过添加辅助假说的解释。例如，世俗天文学家提出了行星的磁场可以“充电”随着时间的推移。具体来说，他们援引的“磁发电机”行星的磁场供电的想法。其基本思路是，议案内行星的可再生的磁场，使总磁场强度不会衰减。然而，行星不适合的必要条件，以推动这种发电机。最简单的解释是，太阳系是远远超过几十亿年的年轻。
磁场确认最近成立
拉斯堪，博士（博士学位的物理学家和“圣经”创世）已经制作了一个行星的磁场，这可以解释本质圣经创造10的条款他们目前的实力模型，该模型估计每个磁场的初始强度在其创作的时刻，那么该模型计算其目前的优势，基于6000年从电阻衰减。令人印象深刻的是，这个圣经模型能够考虑到目前测量磁场的所有已知行星11甚至卫星以及许多。
当然，几乎所有的模型都可以被“调整”，以适应现有的数据，因此它可能是更令人印象深刻，堪博士“的模式成功地预测了目前的行星天王星和海王星的磁场强度之前，他们是被旅行者号飞船测量。具体的，成功的预测是一个良好的科学模型的标志。堪博士还​​预言，火星将有剩余（永久）磁性，它现在已经确认。12剩磁发生在冷却和凝固在外部磁场存在的岩石。如剩磁也发现在月球上。这证实，无论是月球和火星曾经有过强大的磁场，预计在堪模型。行星的磁场，强烈支持圣经太阳系的年龄。
螺旋星系
星系是一个巨大的恒星和星际气体和尘埃大会。星系发生在尺寸范围内，可以包含任何地方从100万到一万亿分。我们的星系（银河系）中包含了超过100亿颗恒星。也有各种形状的星系。许多人是圆形或椭圆形的性质。其他有形状不规则，如麦哲伦银河系的两个卫星星系云。一些最美丽的星系是在自然界的螺旋。一个螺旋星系中央隆起带平盘形状。磁盘部分包含螺旋更大的恒星从星系的外围扩展到核心区域的武器。
差旋转的螺旋星系
慢慢旋转的螺旋星系，但内陆地区的螺旋旋转速度比外地区，这个被称为“旋转差。”13这意味着，一个螺旋星系正在不断成为越来越多的扭曲螺旋变得更紧。几亿年后，银河系将结束得那么紧，螺旋结构将不再是辨认。根据大爆炸的情况下，星系应该是几十亿岁，但我们看到的螺旋星系，其中很多。这表明，它们几乎没有旧如旧的大爆炸需要。螺旋星系与圣经宇宙的年龄是一致的，但在数十亿年的信仰问题。
世俗天文学家们提出了“螺旋密度波”创造新的旧变得面目全非扭曲的旋臂。这个想法是周围的星系旅行的压力，波和刺激新的明星增长。当然，这种波尚未观察到，这样的想法仍然是一个猜想。此外，螺旋密度波的概念，假设，明星可以自发地形成。虽然几乎所有的世俗天文学家假设这，恒星的形成有其自身的重大问题。此外，也有困难，在开始任何所谓的密度波在首位。这些并发症是没有必要的，如果我们接受的证据，最简单的解释：星系是不是数十亿岁。
彗星
内政部认为，彗星
海尔 - 波普彗星
（纯属虚构）奥尔特云艺术家移交从阿尔法Centuri系统的
彗星是冰和污垢轨道太阳，往往在高度偏心轨道的球。扎实的一颗彗星的中央部分被称为核。彗星一般有“昏迷的汽化他们周围的物质，出现作为一个微弱的”雾“被称为这个地区。”彗星花费其大部分时间在其轨道上的点，是从太阳最远（远日点）附近慢慢移动。当它们接近太阳时，他们加快和弹弓绕太阳在最近点（近日点），移动最快。它是在许多彗星发展“尾巴”延伸距离彗星的蒸发材料流的方法接近这些点。尾巴指向远离太阳，因为材料是由太阳风和辐射席卷了。往往两个尾巴发展：轻带电粒子组成的离子尾和尘埃彗尾含有较重的材料。是稍微的蓝色的离子尾，它是离太阳直，直接点。尘埃彗尾是白色的，一般弯曲。有时只有两条尾巴是可见的。
彗星的尾巴（尾巴）是一个迹象表明，彗星不可能永远持续下去。尾彗星正在失去材料;彗星变小的每一次，它绕太阳。据估计，一个典型的彗星轨道的约10万最多只能太阳之前完全运行材料。 （这是一个平均数字，当然，确切的寿命将取决于大彗星是如何开始的，其轨道参数。）由于我们仍然有很多彗星，这表明太阳系超过10万年轻得多年。这同意完全与“圣经”。显然，45亿年将是荒谬膨胀的年龄为彗星。
如何世俗天文学家试图调和他们在数十亿年的信念？由于彗星不能持续，长期的，世俗的天文学家必须承担起新彗星的太阳能系统，以取代那些都不见了，所以他们已经发明了“奥尔特云”14。的想法，这是应该是一个蕴藏着巨大冰冷的群众远离太阳的轨道。我们的想法是，有时一个冰冷的质量下降到成为一个“新”彗星进入太阳系内部。有趣的是，目前还没有证据的奥尔特云，没有任何理由相信，在一个，如果我们接受创世记中创建帐户。彗星与太阳系是年轻的事实是一致的。
结论
这美国宇航​​局哈勃太空望远镜的图像显示了“猫的眼睛星云的最复杂的行星曾经见过，的NGC 6543，绰号星云之一。”哈勃揭示了令人惊讶的复杂的结构包括同心气体壳，高速气体射流和不寻常的冲击波引起的结气体。
显然，有许多证据，这是完全符合圣经的宇宙年龄是一致的，是难以调和，在数十亿年的信仰。不，他们是“证据”，因为大爆炸的支持者总是可以发明非证伪的猜想去解释这些证据，但我们已经看到，当我们使用“圣经”，以了解宇宙的年龄，证据肯定是一致的。
在最上面讨论的一个年轻的宇宙的论点，我们已经使用了均变和自然的假设，当然，我们不接受。我们特意使用的观点对立点的假设，表明这些假设导致矛盾。例如，我们发现，假设，月球形成自然45亿年前，当时并没有偏离率节节走不断1/r6关系月亮不能超过1.5亿老年一对矛盾。这种不一致是常见的非圣经的世界观。
均变是一条走不通的哲学假设，它不是基于证据的结论。此外，它是不符合圣经。现在是不是过去的关键。正好相反：过去是目前的关键！圣经是造物主上帝透露字，谁知道的一切，给了我们一个准确的历史帐户。 “圣经”（它告诉我们关于过去）是了解当今世界的关键。当我们开始与“圣经”作为我们的前提，我们发现，它使世界上的意义。当然，行星将有强磁场;星系当然不会被扭曲;当然，我们仍然有彗星。这些都是我们希望在“圣经”的世界观。 “圣经”是真实的，证据证实，宇宙是几千岁。
在深入的创作：
月球的经济衰退
潮汐凸起开发地球上的，因为月亮是比其他更接近地球的一侧，因此它的引力拉附近的更难。这将导致地球的整体形状略呈椭圆形。潮汐凸起的高度会更大，如果月球接近地球。比月亮围绕地球旋转速度更快，因此，潮汐凸起始终是未来的月球。因为他们在月球上拉，凸起传输角动量和动能增加月球的轨道能量，使其从远离地球。这次经济衰退的速度大约是成正比的逆地球，月球距离第六届电源。作为一个粗略的估计，这可以如下：
潮汐凸起近似为偶极子（从地心分开的两个点）。偶极子的分离是成正比1/r3，其中r是地球月亮分离。1所以，我们希望，潮汐隆起的高度去大致H = 1/r3。然而，与在月球上的潮汐凸起拉回力也作为h/r3对于一个给定的高度（H）。因此，我们期望潮衰退率约1/r6。
它方程描述潮汐衰退是：
DR / DT = k/r6

常数K可以发现，使用电流测量月球衰退率：3.8厘米/年。因此，K = r6dr/dt = 6×（.000038km/year）= 1.2×1029 km7/year（384401公里）。月球衰退方程，然后解决极端情况下（月球的年龄上限）：
在这里，T是对月球的最高年龄，因为这个假设它从它R本期距离=384401公里的;零距离迁移。在已知的值插入地球 - 月球系统的T = 1.5亿年，远远高于进化论者需要4.5亿年的年龄上限。
由于圣经创造的批评不能接受这一结论，他们被迫采取辅助假设，使证据合适。一些人所说的K未必时间常数;也许在过去的不同分布的大洲影响地球上的海洋潮汐破。这种猜测并不一定能解决的问题，虽然。首先，不同的大陆分布并不保证k会更小，如果它比较大，那么问题会更糟。
第二，K将大大缩小，以改善问题。第三，地质证据反对这种说法，即使我们接受这种证据进化/长年龄的解释。潮汐韵律世俗的科学家进行的研究是一致的k约不断在地质时间（假设进化论者的测年方法）.2此外，没有任何证据的极端潮汐会导致从一个月亮，这是非常接近的当然地球.3，这是什么圣经的神创论所期望的，因为月亮只有约800英尺（250米），在创造更加接近，大约6000年前。
游览磁场的证据
地球是不是数十亿岁的简单解释是，当然，进化论者不能容忍的结论。因此，需要额外的假设内的自然主义的世界观解释这方面的证据。然而，到目前为止，世俗的解释已经不能够忍受仔细推敲。例如，一些世俗的科学家曾建议，只有地球磁场偶极部分已腐烂，和非偶极子组件增加能源来弥补。他们已经表明，地球磁场的总能量并没有减少。然而，这并非如此;增加在非偶极子场已被证明是较小比偶极场6因此减少，地球磁场的总能量的衰减，因此支持最近创造。
磁发电机与磁衰减
磁场和电能可以产生的机械能（运动）。这是汽车发电机是如何工作的。毫无疑问，是在宇宙的机械能转换成磁场的地方。它似乎，太阳刚刚经历了这样一个过程，它扭转它的磁场每11年。许多世俗天文学家假定的行星，也经历这样一个过程（尽管这在目前尚未观察到）。然而，事实上，这样的过程可以发生（有很好的证据保存在地球岩石中的磁性逆转，这是一个可敬的创世理论7）不一定解决问题的一个“老”宇宙的强磁场。
首先，电磁机械系统必须设置在恰到好处的方式，为了使总磁场能量增加。有没有保证，造成磁场逆转的大力议案实际上可以充电的总磁场能量，并防止随着时间的推移衰减。事实上，这种磁场逆转实际上可能加快总场衰减强度作为可能与太阳.8的的情况下
其次，也有一些很好的理由相信，行星的磁场是不是发电机，要比太阳不同。太阳这么热，其原子电离的电子被剥离称为一个国家的核心“等离子”。等离子体是高度敏感的磁场，比中性气体，并与他们互动更加强烈。太阳内部的湍流运动正在不断产生混乱的磁性位。然而，行星没有血浆和不表现出我们在阳光下看到的各种提案。此外，在太阳被认为是扭转其磁场的过程中，应旋转轴几乎完全一致的磁极。这是太阳，但并非为行星的情况。事实上，行星天王星和海王星有磁场，相对各自的旋转轴倾斜严重。
太阳还拥有强大的环形磁场（除了偶极子场）。具有南北磁极，而不是环形磁场围绕太阳的完整循环，形成平行于太阳赤道带。至少有一个乐队在北半球存在，另一个是在与南半球相反极性。太阳黑子通常发生在这些环形带的纬度。这些环形的磁场是太阳的磁场扭转过程中的关键，但行星不显示强大的环形磁场的证据。此外，没有证据显示，该行星的磁场逆转的今天，作为太阳的一样。9今天行星的磁场是简单的衰变产生的电阻一致。
博士堪行星的磁场模型
拉斯堪博士产生了创造行星的磁场模型。该模型提出，当上帝创造了太阳系的行星，他做了水神超自然的行星，其中包括今天的物质改变。这种想法可能会建议（至少为地球）为2彼得3时05分段落。水分子可以有一个属于自己的小磁场，由于质子中的两个氢原子的量子自旋。如果这些分子的磁场的重要部分对齐行星首次创建时，他们会增加，产生强烈的偶极磁场。虽然分子排列会很快停止，由于分子的随机热运动，磁场会诱发电流的磁场强度将维持。神转换成其他材料的水后，维持磁场的电流将开始腐烂，因为它遇到内电阻的材料。材料的电导率越大，时间越长，将磁场衰减。计算目前任何给定的行星的磁场，我们只需要知道初始地球的磁场强度，并减少衰变后6000年的这个。这是由（1）对齐的数量（K）原磁场，和（2）地球的导电线芯的大小。一个更大，更导电线芯允许电流，持续时间更长，因此，磁场将需要更长的衰减。
每个行星的质量是众所周知的，可以非常精确地计算从任何轨道卫星的周期（或附近的太空探测器的轨迹）。可估计以及核心的大小和电导率。唯一的模型自由参数是初始对准这可能是之间的K = 0（无分子排列）和k = 1（最大对齐）。堪博士现在认为K = 1的数据是最一致的。使用这样的价值，目前地球磁场这个模型是完全一致的。此外，由于K不能大于1，这台对所有的磁场，太阳和行星今天的绝对上限。事实上，太阳系中已知的磁场没有超过上限，基于此模型的预测，但他们会一直在他们的创作相当接近这个极限，大约6000年前，该证据是令人信服的。的证据，非常适合与“圣经”的时间尺度。
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Abstract

We here explore a way in which light from distant galaxies can reach earth within the biblical timescale. Though the universe is created mature, we will ﬁnd that this by itself appears to be insufﬁcient to explain our ability to see distant events, prompting the need for a solution to the “distant starlight problem.” The concept of synchrony conventions in physics is examined. The fact that relativistic physics precludes an absolute, invariant synchrony space is reviewed. We then explore the consequences and motivation for the use of the standard Einstein synchrony convention, followed by an investigation of alternative synchrony conventions.

In particular, we ﬁnd that an observer-centric anisotropic synchrony convention eliminates the distant starlight problem by reducing radially inward-directed light travel-time in the reference frame of the observer to zero. Such a convention implies that everything in the universe has an age of a few thousand years as we currently see it. The biblical basis for such a convention is explored. Potential objections to this synchrony convention are considered. When the anisotropic synchrony convention is applied to standard cosmological parameters, a new young-universe cosmological model emerges which makes falsiﬁable predictions.



Keywords: light-travel, young universe, distant starlight

Introduction

According to the Bible, everything in the universe was made in the span of six days (Exodus 20:11); these are clearly ordinary earth rotation days comprised of one evening and one morning (Genesis 1:5). Moreover, this creation happened a few thousand (roughly 6,000) years ago, as deduced from the genealogies we read in sections of the Bible such as Genesis 5 and 11. The clear biblical teaching therefore is that everything in the universe is a few thousand years old. Since light travels a distance of one light year (about 6 trillion miles or 9 trillion kilometers) in one year, it would seem that we should only be able to see objects within a radius of 6,000 light years.1 Objects beyond that distance should not be visible, since presumably their light has not yet reached us. Yet, paradoxically, we can see galaxies whose distances have been measured to be many billions of light years away. This apparent mystery has been often addressed in creation literature as “the distant starlight problem.”

Critics of biblical creation have often attempted to use distant starlight as evidence in favor of the big bang and against Genesis. But such criticisms are logically unsound since the big bang has an ontologically equivalent problem—the horizon problem. Solutions to the horizon problem have been proposed of course, but there is not universal agreement (Lisle 2006). The fact that the universe is very big and also young (by secular standards) is therefore not logically useful as a criticism against the Bible when the favored alternative also has a light travel-time problem.

Mature Creation

It has been suggested that God supernaturally created the beams of light themselves. That is, the light beam from every star to earth is created “in transit” at the same time the stars are created. This light en-route model is often presented in the context of mature creation: the idea that God created the universe fully functional from the start, and that the universe required no time or process to become what God wanted it to be.

Mature creation is sometimes inappropriately referred to as “appearance of age”; however the latter term fallaciously implies that age can be seen or otherwise empirically measured. But since age is not a physical property or substance, it cannot be directly observed. Of course there is a sense in which we say that something appears old or young—a person who looks “young” for his age, or a car that looks quite “old.” In these cases, we are speaking idiomatically, comparing observable characteristics and then making an inference based on comparisons with other samples whose age is known. This of course is not possible with the universe, since there is only one known member of its class (Chaffey and Lisle 2008).

Strictly speaking, something cannot appear old or young, because age is not an observational property. Age is a concept indicative of history, which cannot be observed in the present. When someone says he believes the universe “looks old,” this simply reveals something about the initial conditions he has assumed—not about the universe. Thus, the universe was not created with “appearance of age,” but it was created mature—in the sense that it functioned immediately upon God’s creating it. Just as Adam was created mature, needing no time or process to reach adulthood, so was the universe.

Many arguments against a young universe are indeed easily refuted by pointing out that the universe was made mature, and hence the advocate of an “old earth” has assumed the incorrect initial conditions. Today, for example, trees need a certain amount of time to reach a certain size. But the first trees were created supernaturally, and needed less than a day to reach their size. If someone were to assume that the first trees came about by today’s natural processes (growing from a seed at today’s rate), he or she would vastly overestimate the age.

The overwhelming majority of old-earth, or old-universe arguments are fallacious because they are based on faulty, unbiblical initial conditions. For example, by assuming that the universe began with no size, or that the solar system formed from a nebula, and then extrapolating how long it would take to reach its present state, of course one is bound to reach a faulty age estimate that is inflated by a factor of millions. Old-universe supporters frequently make such mistakes. They have arbitrarily assumed unbiblical initial conditions, and then use the resulting inflated age estimate to argue that the Bible is wrong. But, of course, this simply begs the question.

The Light-in-Transit Model

Mature creation is a biblical concept, and easily shows the majority of old-earth claims to be fallacious. But does distant starlight fall in this category? One of the assumptions involved when light travel times are computed is that the light did indeed originate at the star. If God created the beams of light en-route, then they did not originate at the stars. This would indeed eliminate the distant starlight problem. However, this proposal introduces biblical and philosophical difficulties of its own. I suggest that it is reasonable (and in fact necessary) to suppose that distant starlight did in fact originate from the star, and was not created in transit. There are several reasons to reject the light-in-transit view.

First, there is a serious biblical difficulty with this view. Genesis 1:14–15 indicates that God made the lights in the sky to mark the passage of time and to give light upon the earth. Verse 16tells us specifically what these lights are: God created the sun, the moon, and the stars also.Verse 17 reiterates that one of the purposes of these light-bearers is to give light upon the earth. The phrase at the end of verse 15 “and it was so” indicates that these light-bearers immediately began to fulfill their God-given purpose—to give light upon the earth.

But this is the problem: if God created the light in-transit, then the light does not really come from the stars. In fact, it could not rightly be called “starlight” at all but rather “Godlight.” If the light en-route model were true, then all stars beyond about 6,000 light years are not yet fulfilling their God-ordained purpose to give light upon the earth, but Genesis 1:14–15 suggests that the stars fulfilled their purpose right from the day of their creation.

There is a serious philosophical difficulty as well concerning the preconditions of intelligibility. These are the things necessary to make knowledge of the universe possible. For example, the basic reliability of our senses is a precondition of intelligibility. Clearly, if our eyes, ears, and other senses did not accurately inform our mind about the outside world, we would have no hope of understanding anything about the universe. We all presume that our senses are basically reliable, that we are not just a brain in a jar being fed electrical impulses about a fictional “Matrix” world.
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Fig. 1. Supernova 1987A. If the light-in-transit model is correct, then this star never actually existed, and this explosion never really happened. It would mean that this image does not correspond to any real object, but is simply a picture created by God in beams of light.

The preconditions of intelligibility must be true, because without them we could not know anything at all. Therefore, anything that undermines a precondition of intelligibility must be false. But the light-in-transit model undermines the basic reliability of our senses. Consider: the light-in-transit model would mean that all events (supernovae for example—fig. 1) beyond about 6,000 light years have never happened. They would merely be a sequence of images in a beam of light created by God. These images would not correspond to any real event.

But if God is willing to make movies of fictional events at distances beyond 6,000 light years, then why would we arbitrarily assume that He would not also make fictional movies nearby? (Is the tree outside my window real, or is it merely a picture embedded in light beams created by God?) The light-en-route model requires that events we observe beyond about 6,000 light years (which covers the overwhelming majority of the universe) are fictional, and thus our senses are not reliable for those distances. If we cannot believe our eyes for 99.9999% of the universe, then why should we trust them for the other 0.0001% that is nearby? So, light-en-route models lead to the inescapable conclusion that our senses are not generally reliable, in which case it doesn’t make sense to even attempt to understand the universe. Yes, God made the universe mature. But, no, this does not by itself alleviate the distant starlight problem.

Scripture Implies a Synchrony Convention

Genesis itself may suggest a simple answer to distant starlight. In Genesis 1:14–18 God tells us that the stars were created on the fourth day to give light upon the earth. This text also seems to strongly suggest that the stars fulfilled their purpose immediately (“and it was so”). Therefore, it would seem that the light emitted by the stars reached earth instantaneously, or nearly so. This suggests a synchrony convention: a procedure for synchronizing clocks separated by a distance.2
Two events are said to be “simultaneous” if they both happen at the same time. When two events are separated by some distance and we wish to know whether they are simultaneous, we must first establish a system of measuring time at various locations. In particular, we must make certain that any clocks we are using to measure time at the two locations are synchronized. Thus, we must develop a procedure for synchronizing clocks separated by a distance. This turns out to be far more complicated than people might assume at first. Yet, we will find that the correct synchrony convention eliminates the distant starlight problem. Starlight from the most distant galaxy can reach earth on the fourth day of the Creation Week when the correct relativistic synchrony convention is employed.

Simultaneity in the Classical Limit

Before we address relativistic synchrony conventions, it is useful to examine the concept of synchronization in the classical, Newtonian limit. Before the discovery of Special Relativity, measurements of distances and durations were considered to be invariant: absolute and objectively independent of the reference frame (velocity) or position of the observer. Since motion does not affect the passage of time under Newtonian physics, the synchronization of two clocks is trivial. Simply synchronize the two clocks at the same location, and then move them to the desired positions. The clocks remain synchronized in the classical limit. If we imagine doing this process for an infinite number of clocks, and then distributing these clocks in a three-dimensional grid throughout the universe, we could determine the time of any possible event. The clock at the location of the event records the time.

Suppose we want to know if two events in the universe, say two lightning strikes, have happened at the same time. That is, we wish to know if the two events are simultaneous. This is easily accomplished in our system. Simply read the time of the clock at event A at the instant it happens, and compare it with the time of the clock at event B at the moment it happens. If the times are the same, then the two events are said to be simultaneous. If the two events are not simultaneous, then a particle emitted from the first event at just the right velocity could arrive at the location of the second event exactly at the time the second event occurs.

If the two events are close in space, but widely separated in time (the second event happens long after the first), then a slow-moving particle can pass from the first to the second. If the two events are widely separated in space, but only a short amount of time separates them, then a high-speed particle can pass from the first to the second. However, if the two events are simultaneous, no (finite) speed will be fast enough for a particle from one to reach the other. No amount of energy could accelerate the particle (of finite mass) to the infinite speed required to make its trip instantaneous. This leads us to propose a possible definition of the concept of “simultaneous”:

Two events in spacetime are simultaneous if and only if a (mass-possessing) particle cannot move from one event to the other.
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Fig. 2. Simultaneous events in the classical limit for a universe with two dimensions of space and one of time are coplanar.

To illustrate this, let us consider a universe that has only two dimensions of space, and one of time; this way, we can represent the entire spacetime manifold in a 3-dimensional volume with time on the vertical axis, as per standard relativistic diagrams (see fig. 2). In the diagram, a fast moving particle has a nearly horizontal slope because it traverses a lot of space in a short period of time. Conversely, a slow moving particle has a nearly vertical slope since it crosses very little space in a relatively long period of time. A stationary particle is represented by a vertical line. Let us consider a stationary observer (O) at a particular time and place (p), and imagine how this observer would use the above definition to determine which other events in the universe are happening at exactly this same time.

In this diagram, an event p is simultaneous with event q because no particle is fast enough to travel from p to q—this would require infinite speed, which would require infinite energy in the classical limit. Event p is not simultaneous with event r because a particle of the right velocity could travel from p to r. Neither is event s simultaneous with p since a particle can travel from s to p. Moreover, there is no ambiguity about which events have happened first. Clearly events below p and q have happened before p and q, and events higher on the vertical axis have happened later. Any point with the same ct value as p and q is simultaneous with p and q. Thus, in a Newtonian universe with two dimensions of space and one of time, all events concurrent with p are represented by the horizontal plane that passes through p. All observers, regardless of their location or velocity in the universe would agree on both the relative and absolute timing of these events.

Simultaneity in Relativistic Physics

[image: image14.jpg]et





Fig. 3.The finite speed of light divides spacetime into two volumes: space-like, and time-like. Points exactly on the cones are called light-like.

When we consider a relativistic universe the picture becomes far more complex and interesting. Time and space no longer have the objective observer-independent status which they possessed in the Newtonian limit. Most significantly, particles are no longer permitted to have unlimited velocity. Massive particles may have a velocity up to (but not including) the speed of light. The finite speed of light essentially divides spacetime into two domains—the interior and the exterior of the light cones shown in Fig. 3. These cones represent a burst of light emitted from (in the case of the upper cone), or absorbed by (in the case of the lower cone) event p. If we assume axiomatically that light travels at the same speed in all directions relative to an observer, the resulting light path forms two symmetric cones which intersect at their tips at point p. In relativistic literature, events interior to the light cones of p are called “time-like” events (since their separation from p in time is greater than their separation in space), while those exterior to p (such as point s) are called “space-like.” Events on the cones themselves (such as ℓ) are called “light-like” events.

If we consider an event (q) that is space-like relative to p, we find that it fits our previous definition of “simultaneous.” No (finite-mass) particle can travel from p to q, because such a particle would have to travel faster than light, which is not possible for particles with finite rest mass. Even light is not sufficiently fast to reach q from p. The region of simultaneity is no longer a plane as it was in the classical limit, but is (potentially) the volume external to the light cones of event p. Thus, q and p can be considered simultaneous. Likewise, event r can be considered simultaneous with event p, since no particle can travel from one to the other.
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Fig. 4. Although r can be considered simultaneous with q, and q with p, r cannot be simultaneous with q since r lies within the light-cone of q. Event r is time-like with respect to q.
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Fig. 5.The assumption that the one-way speed of light is isotropic leads to a definition of simultaneity for event p that is the plane S0.

However, when we consider the light cones of events q and r, we find that an inconsistency arises. These events (q and r) are inside the light cone of each other (see fig. 4). Although they are space-like with respect to p, they are time-like events with respect to each other. A finite-mass particle emitted from q will reach r if it has the right velocity. Therefore, although q is simultaneous with p by our working definition, and although p is simultaneous with r, we find that q is not simultaneous with r, and in fact is unambiguously before r. Since q is in the past light cone of r, and r is in the future light cone of q, it seems inconsistent to call them simultaneous, even from the perspective of a third point (p). This leads us to seek a better definition of “simultaneous.”

To eliminate the above inconsistency, we will need to select a 2-dimensional subset of points from our 3-dimensional volume of spacetime that is external to the light cones. This subset we will define as the set of events simultaneous with p (see fig. 5). This new definition will ensure that no event is within the light cone of any other simultaneous event, thereby guaranteeing that causes always happen before effects in all reference frames. If we again take as an axiom that light travels the same speed in all directions relative to an observer, then it follows that a plane (S0) which is orthogonal to the light cone axis (ct) will represent the set of events that are simultaneous with p. This is because plane S0 is the only plane passing through p in which a light cone from an event at the same location as p but at an earlier time (p1) intersects as a circle. The circle indicates that light from this previous event has traveled the same distance in all directions in the same amount of time. In other words, if and only if we define plane S0 as the set of points that are simultaneous with p, will we find that light travels the same speed in all directions, which is our starting axiom. An event that happens at a later time in the same location (q) will be simultaneous with all events defined by the plane S1 (see fig. 6).

The Relativity of Simultaneity
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Fig. 6.All events on plane S1 are simultaneous with events q and r as observed by O.
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Fig. 7. All events on plane R are simultaneous with r as observed by O’.

What we have done in the above is to define our coordinate system in a particular way. Specifically, we have defined “simultaneous events” in such a way that light by construction propagates at the same speed in all directions relative to the observer. This is called the “Einstein synchrony convention” and represents what is normally done in Relativistic physics. It may seem at first that this gives us a perfectly self-consistent and objective definition of simultaneity. However, when we consider an observer that is moving relative to event p, we will see that this definition of simultaneous is not invariant, but is reference-frame dependent. In Relativistic physics, a “reference frame” is an observer or set of observers that all move at the same constant velocity (same speed and direction) through space. Every observer is allowed to consider himself stationary; the position and motion of all other objects in the universe is based on a coordinate system where the observer is axiomatically always at the origin of the spatial coordinates. The path of the observer (O) through spacetime is simply his own time axis (ct).

Consider another observer O’ that is moving relative to O, but happens to be in the same place at time = 0. That is, both observers pass through event p. At a later time, there will be some distance between O and O’ such that O passes through event q, whereas O’ passes through event r. At q, observer O will conclude that all events in plane S1 are simultaneous with q because the light cone intersects that plane as a circle with q in the center. However, observer O’ will not come to the same conclusion. The circle of intersection between the light cones and plane S1is not centered on r. Therefore, light would not be traveling the same speed in all directions relative to observer O’ if S1 represented his plane of simultaneity, which would violate our starting axiom that light propagates in an isotropic fashion relative to any observer.

Instead, observer O’ will conclude that the plane R (see fig. 7) represents the set of points that are simultaneous with r, because this plane intersects the light cones in such a way that the observer is in the center.3 In other words, plane R is the plane in which light has traveled the same speed in all directions relative to observer O’. This leads to some interesting consequences. Observer O would conclude that event s and event q are simultaneous, and event m happens before event s since event m is below the plane S1 and therefore has a smaller value for the time (ct) coordinate (as shown in fig. 6). However, observer O’ would conclude that event s and event q are not simultaneous; event s happens before event q since event s is well below the plane R and event q is slightly above (as shown in fig. 7). Moreover, observer O’ concludes that event m happens after event s since m lies above the plane of simultaneity (R) whereas s lies below. The Lorentz transformations can be used to convert from the coordinate system of O to the coordinate system of O’ and vice versa. The important thing here is that not only do O and O’ disagree on whether or not events are simultaneous, they cannot even agree on the order in which events take place! This well-studied phenomenon is called the “relativity of simultaneity.”

Paradoxes like this occur because we intuitively expect space and time to be observer-independent. But the universe simply is not that way. The coordinates by which we measure spatial extents and temporal intervals are fundamentally observer-dependent, and hence there will always be a range of possible values when we assign coordinates to any spacetime event. The relativity of simultaneity is well-known and is covered more rigorously in most introductory textbooks on Special Relativity. Although Einstein synchronization is well-defined and self-consistent for any one reference frame, it is not possible to construct a synchrony definition that is objectively the same for all velocity reference frames at all locations.

Considerations on the Creation Week

The relativity of simultaneity is rarely discussed in creation-based literature. And yet it is crucial to the construction of biblically-based cosmological models. Let us suppose for the sake of argument that the description of the creation of the universe in Genesis is using Einstein synchronization; that is, the way God describes the timing of events is the same system astronomers and physicists use today. Most creationists implicitly assume this. Since the creation of the celestial objects (the lights of the heavens) occurs on the fourth day, all stars were created simultaneously, or nearly so (within 24 hours). But we’ve just seen that what is considered “simultaneous” is relative to the observer’s reference frame. Since God is omnipresent, what reference frame would He choose? The reference frame of the earth is the obvious choice, since the days of creation are described in terms of earth rotations (“the evening and the morning were the Xth day”). Moreover, since the Bible is written for human beings, it stands to reason that the planet on which all humans live would be the reference frame God would use for all time-stamping.

However, the reference frame of the earth changes throughout the year as the earth orbits the sun. Its direction of velocity is constantly changing. So, if the creation of the stars is simultaneous relative to earth on Day Four (as measured by Einstein synchronization), then it cannot be simultaneous relative to earth only sixth months later (when the earth is on the opposite side of the sun, and moving in the opposite direction). In fact, the spread of time becomes enormous when we consider the most distant galaxies.

For example, consider a galaxy 13 billion light years away. And imagine that it is located in the opposite direction that the earth (in its orbit around the sun) was moving during the Creation Week. Then if this galaxy is created on the fourth day according to the Einstein synchrony convention, we find by the Lorentz transformation that six months later (when the earth is moving toward this galaxy) it would have been created 2.6 million years before the earth!4 Perhaps even more strangely, if we consider a galaxy in the opposite direction (such that earth is moving toward it at its creation), also 13 billion light years away and created on Day Four, the Lorentz transformation tells us that this galaxy from earth’s reference frame six months later will not have been created yet! Its creation will be 2.6 million years in the future.

This effect is illustrated in Figs. 6 and 7. Observer O represents earth at its creation. Event s represents the creation of the first galaxy we considered, and event n represents the second galaxy we considered. Plane S1 represents the entire universe at that time (that is, Day Four). We see that event s and event n (the creation of those two galaxies) occur on Day Four as expected (see fig. 6). Six months later, the earth has a different velocity frame, and is now represented by O’ (see fig. 7). So, plane R represents the entire universe at that time. We can see that event s now lies in the distant past, indicating that the galaxy was created long ago (2.6 million years ago from the Lorentz transformation). Whereas event n now lies in earth’s future; that galaxy will not be created for another 2.6 million years.

Einstein synchronization is very useful in physics and does have clear advantages over other systems. But, as we have seen, it also leads to some rather strange results. Two cosmically distant events that are considered simultaneous in one reference frame will inevitably be separated by millions of years in another reference frame. More generally, any two space-like events will be considered simultaneous in some reference frame. In other reference frames, one will occur before the other; however, the order in which they occur will be different for different velocity frames. So, if the creation of all the galaxies in the cosmos is simultaneous in one reference frame, it will be spread out over millions of years in another. And the earth is constantly shifting reference frames in its annual orbit.

We could resolve this discrepancy by selecting some other reference frame, one that does not change with time, such as the center of mass of the entire universe. However, this seems rather arbitrary, and biblically unwarranted. Essentially all other time references in Scripture are given in terms of earth time, and in particular, the local time at the location under discussion. Why make an exception for Genesis? This would be nothing more than special pleading. Since the creation days are always bound by morning and evening, it seems clear that the velocity frame used to describe the creation account (and in general throughout the Scriptures) is that of the earth.

Since the creation of the entire universe took place within a timescale of six earth rotation days, we must ascertain what synchrony convention God is using when He speaks of the stars being created on the fourth day. We have seen that if we assume that this is the fourth day as measured by Einstein synchronization, then creation takes place in six days only when the earth is moving at a particular speed in a particular direction. Thus, those six days become spread out over millions of years when the earth changes direction in its annual orbit. But there is no hint of such a thing in Scripture. The Bible only ever speaks of creation taking place in a short span of time (six days) regardless of when the statement is made (for example, Genesis 1; Exodus 20:11; Mark 10:6). Moreover, the fact that the creation of some galaxies lies in the distant future when measured by Einstein synchrony seems to clash with Genesis 2:1–2, which indicate that God’s work of creation is finished and that God is no longer creating. The Einstein synchrony convention seems to create a number of inconsistencies when applied to Genesis 1. Might this suggest that the Bible does not use Einstein synchronization? This leads us to ask whether there may be an alternative definition of simultaneity in which creation takes place in six days regardless of the earth’s velocity at other times.

Alternative Synchrony Conventions

The Einstein synchrony convention that we have been working with so far is based on two axioms. First, if a (massive) particle can travel from event A to event B, then the two events are not simultaneous. This criterion is necessary to preserve cause-and-effect relationships and eliminates the volume within the light cones. Second, in order to eliminate any remaining ambiguity, we selected only a 2-dimensional subset of the remaining points: the plane in which the light cone intersects as a circle. This is equivalent to assuming that light travels at the same speed in all directions relative to any observer. We chose this for simplicity. However, this second axiom is not actually a requirement or premise of Special Relativity (Einstein 1961). Relativity only requires that the two-way time averaged speed of light is constant for any observer. Although Einstein synchrony is normally used as the particular system in which the equations are expressed, it is not a requirement. By dropping this second axiom, we find that there are alternative definitions of simultaneity that are logically consistent for any given observer.

In principle, we could select any two-dimensional manifold exterior to the light cones of p, providing that no point in this manifold is within the light cone of any other point. Any such definition of simultaneity will be self-consistent for any given observer and will preserve causality. For example, we could select planes of simultaneity that are tilted relative to the light cones. Such a definition is equivalent to assuming that light travels at different speeds in different directions. This is permitted in Relativity, provided that the round-trip speed is constant for any observer. In fact, it has been shown that Special Relativity can be expressed using non-Einstein synchrony conventions, leaving the one-way speed of light as a free parameter (Winnie 1970a, b).

Therefore, an infinite number of such synchrony conventions may be stipulated. However, not all such selections will be particularly useful. But there is one that is especially useful. Let us consider a non-Einstein synchrony convention in which all points in the past light cone of p are considered simultaneous. This convention has been used in the technical literature (Sarkar and Stachel 1999). Moreover, Einstein himself considered using this convention, but preferred to use the standard convention because it is position-independent (as we will see shortly). To avoid having causally-connected simultaneous events, we could move the cone infinitesimally outside the past light cone as follows.
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Fig. 8.A cone surrounding the past light cone of p at an infinitesimal angle ϕ is defined as those events simultaneous with p.

We define “simultaneous” as the set of events that form a cone around the lower (past) light cone of p at angle ϕ where ϕ represents an infinitesimal quantity (see fig. 8). For all practical purposes, we are using the lower light cone as the surface of simultaneity; except I am displacing it by an infinitesimal amount (ϕ) in order to ensure that simultaneous events are always space-like rather than light-like, thereby making them causally unconnected. This is an anisotropic synchrony convention (ASC) because we are stipulating that light travels at different speeds depending on its direction or position relative to observer O. It is clear that this definition fits our criteria. First, no positive-rest-mass particle can travel from any event on this cone to any other. Second, no point on this cone is within the light cones of any other point. Although ASC lacks the mathematical symmetry of the Einstein convention, it has certain interesting advantages.

Notice that since events p, m, n, and s are on the surface of the cone (or infinitesimally exterior to it), they are all considered simultaneous under the ASC definition. Moreover, since observer O’ shares the same light cones as observer O at point p, this means observer O’ also considers events p, m, n, and s to be simultaneous. This is a unique feature of ASC: observers at the same location all agree on which events are simultaneous—regardless of the velocity of the observer. Recall that the Einstein synchrony convention lacks this feature; two observers at the same location will (in general) disagree on which events are simultaneous if the observers have different velocities. The Einstein synchrony convention requires that two observers have the same velocity (not position) if they are to agree on which events in the universe are simultaneous. Apparently, a preference for a position-independent synchrony convention rather than a velocity-independent one was the reason that Einstein himself preferred to use the convention that now bears his name (Sarkar and Stachel 1999).

Implications of Describing Creation using ASC

If we suppose for argument’s sake that the Bible uses the anisotropic synchrony convention (ASC) as defined above when describing the timing of events, we find that this eliminates the problems we encountered under the Einstein synchrony convention. Recall that under Einstein synchronization the creation of the distant stars is instantaneous when earth is on one side of its orbit; however, that creation becomes spread out over millions of years only six months later. This occurs because of the difference in velocity of the two reference frames as computed from the Lorentz transformation. However, with ASC, the velocity does not matter. Both earth at creation (O) and earth six months later (O’) have approximately the same position, even though the velocity is quite different. Therefore, under ASC, both would consider the creation of the stars to be simultaneous on Day Four—even for the most distant galaxies.

Most significantly, ASC reduces the inward-directed light travel-time to zero. Since ASC defines simultaneity as being infinitesimally close to the past light cones, it follows that the creation of a star on Day Four happens at essentially the same time as the light from that star reaches earth. Under ASC, the “distant starlight problem” disappears. Even the most distant galaxy is created on Day Four, and its light reaches earth effectively simultaneously on Day Four. Of course, the fact that ASC solves the distant starlight problem does not ipso facto mean that it is the convention that the Bible uses. Nonetheless, we have seen thus far that (1) if the Bible does use ASC to mark time in Genesis, then (2) the distant starlight problem is solved. Part 1 of this proposition remains to be proved. However, we are already seeing a strong suggestion that it may be so, since ASC eliminates the problem of the de-synchronization of the Creation Week that occurs when the Lorentz transformation is applied to earth’s annual orbit.

Synchrony Conventions and the One-Way Speed of Light

Both theory and experimentation confirm that the round trip speed of light in a vacuum is constant relative to any inertial observer.5 So, if we take light and bounce it off one or more mirrors so that it returns to its source location, the time it takes will be constant for a given distance (for any inertial observer who performs the experiment) and is given by L/c where L is the total length of the path and c is the (round trip) speed of light. However, the speed of light in any one direction is not necessarily constant. As counter-intuitive as it may seem, the one-way speed of light is not a constant of nature, but is a matter of convention. It is something we may choose, providing that our choice preserves causality, is self-consistent, and providing the round trip speed of light is still exactly c.

The act of choosing a synchrony convention is synonymous with defining the one-way speed of light. If we select Einstein synchronization, then we have declared that the speed of light is the same in all directions. If we select ASC, then we have declared that light is essentially infinitely fast when moving directly toward the observer, and ½c when moving directly away. Under ASC, the speed of light as a function of direction relative to the observer (θ) is given by cθ = c/(1-cos(θ)), where θ = 0 indicates the direction directly toward the observer.

It seems counter-intuitive that we may simply stipulate the one-way speed of light. It seems that the one-way speed of light should be unambiguous and measurable, in which case we would not have the freedom to choose an alternate synchrony convention. However, this is not so. We should remember that people once thought that durations in time and lengths in space were objective and unambiguous, irrespective of the observer’s velocity. But Einstein’s discoveries rule out such possibilities. In the next two sections, I will show that the one-way speed of light is conventional. It is something that is stipulated by us, and is not an independent measurable property of the universe. This will be only a brief review of what is often called the “conventionality thesis.” More thorough treatments are available in the technical literature (Salmon 1977; Winnie 1970a, b).

Attempts to Measure the One-Way Speed of Light

Measuring the round-trip average speed of light is quite easy in principle. We could set up a clock at location A and a mirror at location B which is distance S from A. We send out a light beam from the clock at location A; the beam reflects off the mirror at B and returns to A. We subtract the time when the light left from the time when it returned and call the difference t. The round trip time-averaged speed of light is then given by c = 2S/t.

We could attempt to measure the one-way speed of light by a similar experiment. But since the light is no longer on a closed path, we will now need another clock at B to record the time at which the light arrives. The time of light arrival at clock B minus the time of light departure at clock A is t. The one-way speed of light would seem to be cθ = S/t. But there is a catch. In order for us to obtain the correct answer we must be certain that clock B is synchronized with clock A—that both clocks read the same time at the same time. This seemingly trivial task turns out to be surprisingly difficult.

How do we synchronize clock B with clock A? Suppose that we send out a radio signal from clock A when it strikes noon. Clock B is then set to noon when it receives this signal. But the problem here is that the radio signal has taken some time to travel from A to B. So, perhaps we should set clock B a bit ahead of noon, when it receives the signal. But how far ahead should we set it? This of course will depend on the amount of time it took the radio pulse to travel from A to B. Radio waves travel at the speed of light. But the one-way speed of light is the very thing here in question. So, we would have to know the one-way speed of light in advance in order to synchronize clock B with clock A, in order to measure the one-way speed of light. The catch-22 is clear.

Other types of signals suffer from the same problem. All other types of signals directly or indirectly depend upon the one-way speed of light. For example, sending an electrical signal from A to B to synchronize the clocks does no good, because electricity travels at essentially the speed of light, which is the quantity in question. Even sound signals are dependent on the one-way speed of light, because the collision of atoms is an electromagnetic interaction; and electromagnetic fields propagate at the speed of light.

Another way in which we might attempt to synchronize clocks at A and B is to bring the clock at B to A and synchronize the two at the same location. This eliminates any ambiguity due to light travel time. We then move one of the clocks to point B. It’s simple enough, but there is again a catch. Einstein tells us that motion affects the passage of time. So, although the two clocks were indeed synchronized when they were together, the very act of moving one clock to B has caused it to become desynchronized with the clock at A. How much it is off will depend on the one-way speed of light, the very issue in question.

Slow Clock Transport

Some people have proposed a method by which we might overcome the difficulty of synchronizing clock B with clock A. Since motion affects the passage of time, if we were to synchronize two clocks at point A and then move one clock to B and then back to A, the two clocks would no longer read the same time. If we repeated this experiment but moved clock B much more slowly, we would find that it would be much closer to synchronization with clock A, though still not exactly.

Although we will not repeat the proof here, it is a consequence of Special Relativity that clock B will be exactly synchronized with clock A if we do this experiment in the limit as the velocity of clock B goes to zero (Salmon 1977, p. 264; Winnie 1970a, pp. 96–97). In other words, clock B will be very nearly synchronized with clock A as long as we move it as slowly as possible. Based on this, some have suggested that slow clock transport will allow us to synchronize clocks separated by a distance. Simply synchronize clock B to clock A when the two clocks have the same location. Then move clock B to a distant location as slowly as possible, and (it is claimed) it should still be synchronized with clock A.

As reasonable as this may sound, there is a fundamental flaw in the method; a critical assumption has been made. We know from Special Relativity that a clock moved slowly will still be synchronized with its stationary counterpart when moved back to the original position (in the limit of zero velocity). However, we have merely assumed that it remained synchronized throughout the journey. In other words, how do we know that clock B did not lose ten minutes when moved to its distant position, and then subsequently gain ten minutes when moved back to clock A? It could very well be that outgoing clocks experience time differently than incoming clocks. Special Relativity only requires that the net effect adds to zero when clock B returns home in the limit of zero velocity (Winnie 1970a, pp. 96–97). The amount by which clock B becomes desynchronized as it gains distance from A can be computed, but only if the one-way speed of light is known in advance.

In all cases, the one-way speed of light must first be stipulated before we can construct any experiment to measure it. Therefore, at best, such experiments can only show consistency. But they show consistency for many different synchrony conventions. If we synchronized two distant clocks using the Einstein synchrony convention, and then used these clocks to measure the one-way speed of light, we would find that it is the same in all directions. This result is hardly surprising since we have assumed this at the outset. The very method of Einstein synchronization implicitly presupposes that the speed of light is the same in all directions.

If we were to repeat the experiment, this time synchronizing our clocks by ASC, then we would find that the speed of light is different in different directions—confirming (but not proving) our starting presupposition. Such experiments cannot therefore ever actually test the one-way speed of light without first stipulating it. The results are self-consistent; but other definitions of simultaneity also lead to self-consistent results. Although there have been attempts to refute the conventionality thesis, so far all such attempts have subtly presupposed Einstein synchronization as the method by which the two clocks are synchronized; hence, they have begged the question and are not cogent refutations (Sarker and Stachel 1999).

Einstein himself noted that attempts to measure the one-way speed of light are inherently circular. In discussing the simultaneity of two bolts of lightning at A and B, as perceived by a person standing exactly in between them at M, he says,

. . . if only I knew that the light by means of which the observer at M perceives the lightning flashes travels along the length A → M with the same velocity as along the length B → M. But an examination would only be possible if we already had at our disposal the means of measuring time. It would thus appear as though we were moving here in a logical circle. (Einstein 1961, pp. 22–23).

Einstein rightly concludes that the one-way speed of light is not an empirical quantity of nature, but a choice of man. He states,

That light requires the same time to traverse the path A → M as for the path B → M is in reality neither a supposition nor a hypothesis about the physical nature of light, but a stipulation which I can make of my own freewill in order to arrive at a definition of simultaneity (Einstein 1961, p. 23) [emphasis is in the original].

This conclusion is quite profound. Since we cannot (even in principle) ever measure the one-way speed of light, Einstein concludes that the one-way speed of light is not actually a property of nature, but a choice of man. Before Einstein, we might have assumed that the one-way speed of light (and thus, the corresponding synchrony convention) is a property of the universe—one that we are not clever enough to measure. But according to Einstein, the fact that we can never test a synchrony convention shows us something fundamental about the universe. Namely, it tells us that synchrony conventions are not a property of the universe, but are instead a system of measurement invented by man. According to the conventionality thesis, no experiment will ever be able to establish one synchrony convention over another, because synchronization systems are a human invention by which we measure other things—much like the metric system.

The Motivation for Selecting a Synchrony Convention

The above thought experiments demonstrate that nature does not prefer one synchrony convention over another any more than nature prefers the metric system over the English system. We may choose to work in the metric system, but we can always convert to another system. Likewise, we may freely stipulate the one-way speed of light (within certain constraints) and synchronize clocks accordingly. However, there are good reasons for selecting one convention over another depending on the circumstances. Though the Bible may use ASC exclusively (I will make an argument for this shortly), this does not mean that we must also use ASC in all circumstances. After all, it would be absurd to say that we cannot use “meters” or “yards” on the basis that the Bible uses “cubits.”6 Einstein synchronization does have its place. In particular, Einstein synchronization is isotropic; the speed of light is stipulated to be the same in all directions. This greatly simplifies the equations of Special Relativity, thereby making Einstein synchronization the preferred convention to be used when doing physics computations.

Much as the metric system is easier to use in physics calculations than the English system, no one would suggest that students learning Special Relativity for the first time should use anything other than the Einstein synchrony convention. One consequence of the Einstein synchrony convention is that all observers agree on the timing of distant events if the observers have the same velocity—regardless of the position of the observers. Conversely, ASC would have all observers agree on the timing of events if the observers have the same location, regardless of velocity. Since Relativity is concerned with velocity reference frames, it is very useful to select a synchrony convention in which velocity alone (irrespective of location) sets the timing of distant events. The mathematical advantages of the Einstein synchrony convention are clear.

And yet, mathematical advantage is not the only consideration when selecting a synchrony convention. The focus of this paper is to discern what convention the Bible is using, not which convention should be used in introductory physics textbooks. Indeed, the Bible does not always select the convention that modern physicists would prefer. For example, consider the timing of events on earth. Events on earth can be measured in terms of local time (the time as defined by our local time-zone), or universal time (the standard time in Greenwich, England). A scientist measuring the speed of an aircraft (one that crosses several time zones) would no doubt use universal time. And yet the Bible uses local time (not identical to our time-zones, but similar), more or less exclusively. The primary purpose of the Bible is to communicate as clearly as possible, in a way that reaches all people-groups at all times, not just modern physicists. To best accomplish this purpose, the anisotropic synchrony convention is superior to the Einstein synchrony convention. Thus, it seems very likely that the Bible uses ASC. Let us consider some of the advantages of ASC in terms of communicating truth to all cultures at all times.

The Biblical Basis for ASC

Note that ASC has definite observational advantages over the Einstein synchrony convention. Of all the infinite possible synchrony conventions, only ASC does not require knowledge of the distance to the source to record the time of any event. Since the surface of simultaneity is essentially identical with the past light cone, events happen as they are seen. Any other synchrony convention requires (1) knowledge of the distance to the source, and (2) knowledge of the speed of light (or at least the stipulation of its one-way speed), in order to compute the light-travel-time from the object to the observer. The resulting number is then subtracted from the time the event was observed, to find the time when the event happened. But since the (inward directed) light-travel-time of ASC is axiomatically zero, there is no need to know the distance to the source, nor the round-trip speed of light.

As far as we know, ancient cultures did not know (1) the distance to any star (aside from perhaps the sun, and then only very roughly), nor (2) the speed of light (either in one direction, or the round trip speed). Thus, it appears that all ancient cultures on earth implicitly used ASC. The time when a celestial event is seen was considered to be simultaneous with the time in which the event happened. It is also noteworthy that modern astronomers also use ASC (implicitly), for example, when naming supernovae. A supernova (such as 1987A) is always named for the year in which its light reaches earth—the anisotropic synchrony convention.

Einstein synchronization only became widely used in the twentieth century, and only in educated parts of the world. Given that ASC has been the standard for all other times and cultures, it makes sense that the Bible would use ASC when communicating the timing of celestial events. The perspicuity of Scripture (the principle that the Bible is clear and meant to be understood by all cultures at all time periods) strongly suggests a synchrony convention that would be understood by all cultures at all times, rather than a synchrony convention that would only be used by academics in the twentieth and twenty-first centuries.

Perhaps most significantly, Scripture itself seems to suggest that the creation of the stars was nearly simultaneous with their light reaching earth. Genesis 1:14–15 describes the creation of the celestial lights, and gives their purpose: to be for signs, seasons, days, and years, and to give light upon the earth (Genesis 1:15). Verse 15 also states, “and it was so” indicating that the stars immediately functioned in their God-ordained role: to give light upon the earth. This strongly implies that the Bible is using the anisotropic synchrony convention—the only convention in which all events are effectively simultaneous with their light reaching the observer.

If the above analysis is correct and the Bible is indeed using ASC, then the distant starlight problem is resolved. The starlight problem was not so much a physics problem, but an error of exegesis. It is the semantic anachronism fallacy (Carson 1984). This is the fallacy of reading a modern meaning into an ancient term. In this case, people have been reading Genesis as if it were using the modern Einstein convention, rather than the more ancient and more common ASC. Since it now strongly appears that the Bible is using ASC, starlight from the most distant galaxies will naturally reach earth essentially instantaneously on the fourth day of creation.

It may seem a strange result to those unfamiliar with Special Relativity. However, it is already well-established that clocks tick slower as they approach the speed of light, and would stop completely if they could attain the speed of light. So, from light’s point of view (imagine that we could travel alongside the light) every trip is instantaneous anyway. This happens regardless of which synchrony convention we use. So, it is not so surprising that we can find a synchrony convention where the travel time is also zero as measured by observers on earth.

In light of this, it seems that distant starlight cannot be legitimately used as an argument against the biblical timescale. The critic cannot even begin to construct an argument based on starlight travel-time unless he can first show that the Bible does not use ASC or some equivalent synchrony convention. Of course, there are many other things the critic would also have to demonstrate about the nature of light, spacetime, and so on. The point here is that his argument cannot have any merit whatsoever until he at least deals with synchrony conventions and attempts to refute the claim that the Bible uses ASC.

Potential Objections to the Anisotropic Synchrony Convention

Although it is impossible to anticipate all potential objections to the above analysis, I will here discuss some of the more obvious possibilities.

(1) Consider the person who says, “But if the Bible really indicates that God created in six days by ASC, then when we convert ASC to Einstein synchrony, it would mean that God really created over millions of years. It means that He made the stars long before the earth so that their light would reach earth on Day Four. But then God didn’t really create in six days.” Such an objection fails for several reasons. First, it contradicts the conventionality thesis. The objection subtly presupposes that the Einstein synchrony convention marks the “true” time, and that ASC does not. However, the conventionality thesis tells us that ASC marks the “real” time of an event just as much as does Einstein synchrony. According to Einstein, there is no “true” time if by that we mean an objective universal synchrony convention that doesn’t depend on position or velocity. The person who argues otherwise has slipped into non-Einstein thinking. ASC is a perfectly legitimate synchrony convention. Therefore, God really did create in six ordinary days, and the light really did reach earth on Day Four.

Second, even if the conventionality thesis were refuted, this objection still fails because the issue is not “which convention does nature prefer?” but rather “which convention does the Bible use?” If someone could show that ASC is merely a phenomenological convention, this would not invalidate the Bible’s use of it. Sunrise and sunset are phenomenological, and the Bible does use them in that way. To be clear, I do not believe that ASC is phenomenological.7 But even if it were, the critic must still show that the Bible is not using ASC, but is using Einstein or some other synchrony convention in which light-travel-time is not instantaneous.

Third, while it is true that converting from six days in ASC to the Einstein synchrony convention will give billions of years, we should also consider the reverse: Converting from six days in the Einstein synchrony convention to ASC will also give billions of years. So, the critic’s objection is completely reversible, and therefore not legitimate. The real issue is not age per se, but rather what does the Bible teach?

(2) “But maybe light really does travel the same speed in all directions. You don’t know for sure that it doesn’t. So, ASC could potentially be wrong.” This objection also denies the conventionality thesis. Those unfamiliar with Relativistic physics are deeply inclined to believe in absolute time and space. And therefore, it will seem strongly intuitive to them that the one-way speed of light should be an objective, invariant, and measurable quantity. But the universe is not constructed that way. For whatever reason, God has constructed the universe in such a way that length, duration, and synchronization are relative to a given observer. Our inability to measure the one-way speed of light is not due to a lack of creativity on our part in designing some experiment to do it. Rather, it is due to the way God has constructed spacetime. Consequently, the one-way speed of light must be stipulated at the outset.

(3) “If God made things such that their light reaches earth on Day Four, then He must have made them millions of years before earth. But Exodus 20:11 indicates that God created everything within six days.” This objection is fallacious because it begs the question. Only in the Einstein synchrony convention would God have made the celestial sources long before earth such that their light reaches earth on Day Four. In ASC, the stars are made on Day Four of the Creation Week, and their light reaches earth essentially instantaneously. This criticism implicitly assumes that the Bible uses the Einstein synchrony convention inExodus 20:11 to argue that the Bible must use that convention in Genesis. But such an assumption is unwarranted. We have seen previously that there are good reasons to think that the Bible uses ASC throughout—including Exodus 20:11.

(4) “ASC is more mathematically complex than the Einstein synchrony convention. Therefore, by Occam’s razor, Einstein synchrony is more likely to be correct.” This objection also fails for two reasons. First, Occam’s razor applies to competing models, not alternative conventions. It would be ridiculous to argue that the metric system is more likely to be “correct” than the English system on the basis that it is mathematically simpler. A system of measurement cannot be “correct” or “incorrect”, though it may be “useful” or “not useful.” Likewise, the Einstein synchrony convention and ASC are two different systems of measurement (like English units and metric), and one can be converted to the other. They are not competing models.

Second, by arguing that one measurement system is “correct,” this hypothetical critic exhibits non-Relativistic thinking. He has denied the conventionality thesis in which we understand that both ASC and Einstein synchronization are legitimate synchrony conventions in Special Relativity. Even for those people familiar with Relativity, it is all too easy to slip back into pre-Einstein thinking, in which we intuitively feel that the one-way speed of light (and hence a given synchrony convention) can be “true” or “false.” But that simply isn’t so. Synchrony conventions are stipulated. They are not a property of the universe that can be investigated.

The ASC Model

The anisotropic synchrony convention is just that—a convention. It is not a scientific model; it does not make testable predictions. It is a convention of measurement and cannot be falsified any more than the metric system can be falsified. However, I have made an argument in this paper that the Bible uses the ASC system. This claim is in principle falsifiable, though of course I have argued that it is true. Furthermore, given the information in Genesis and the inference that the Bible does use ASC, we can construct a cosmology that does make testable predictions. I will refer to this as the “ASC model.”

To be clear, the ASC convention does not make testable predictions and cannot be falsified. However, the ASC model goes beyond the mere convention and does make testable claims and is therefore falsifiable. The essential claim of the ASC model is that the Bible uses the ASC convention. Depending on which additional assumptions we make, we could actually construct a number of different ASC models which make different testable predictions about the way the universe should appear today. These will all have certain features in common because—by definition—they all presume that the Bible’s description in Genesis is accurate and is using the anisotropic synchrony convention.

We now consider some additional reasonable assumptions upon which we can construct the ASC model. Let us suppose first of all that the effects of gravitational time dilation in the universe are relatively small. Einstein’s General Relativity tells us that gravitational potential affects the passage of time. However, the effect is quite small except near the surface of a neutron star or a black hole. Based on the estimated mass in the visible universe, and the distance to the galaxies, the gravitational potential between earth and the farthest known galaxies is small enough that it produces only a nominal amount of relativistic time dilation. So we have a good reason for making this assumption.

I am aware that there are young-universe cosmologies which suppose that the effects of gravitational time dilation are, or at least were at some point in the past, extremely large (Humphreys 1994). In principle, ASC is perfectly compatible with a large degree of gravitational time dilation; however, such dilation is not required in the ASC model. Thus, the ASC model I propose here will presume that gravitational time dilation is negligible. This may turn out not to be the case, in which case the model will need to be modified. But it seems the simplest interpretation of the data at the moment.8 I will further stipulate that the consensus understanding of galactic distances, redshifts, and universal expansion is basically correct, having been established by good scientific procedures which are verifiable in the present.

Observational Predictions and Confirmations of the ASC Model

Given the above stipulations, we are now in a position to make falsifiable predictions about how the universe should appear. Since the ASC model has the stars being made on the fourth day of the Creation Week, and since light travel-time is zero under the selected synchrony convention, and since we have supposed that gravitational time dilation is negligible, it follows that the universe appears at all distances as it is now, having aged an equal amount everywhere. Therefore, when we look at any region of the universe, we are seeing it at an age of roughly 6,000 years.9 That being the case, we should expect to see indications of the youth of the universe (in contrast to billions of years) at all distances. We should expect to find processes that cannot be easily extrapolated into a billions-of-years hypothetical past, and which consequently place an upper limit on the age of the process that is far less than big bang models would predict. The ASC model predicts that such indicators will be found at all distances within the visible cosmos. It is noteworthy that we already have some confirmation of this.

Consider blue stars. Blue, O-type, stars are the hottest and most luminous stars in the universe. Although they are more massive than their yellow and red counterparts, their high luminosity means that they use up their fuel much more quickly than other stars. The hottest blue stars cannot last more than a million years or so. Moreover, it is well known that spontaneous star formation is riddled with theoretical difficulties (overcoming internal gas pressure, angular momentum, and magnetic fields) and lacks any significant observational support. This is particularly problematic for blue stars since they have the greatest mass. If blue stars do not form, then their presence in any region of space suggests that that region was created in the recent past. Blue stars are ubiquitous in our galaxy, and are apparently in the most distant spiral galaxies as well. This is a strong confirmation of the ASC model. The fact that numerous blue stars exist at all distances is consistent with a universe that is thousands of years old at all distances as we now see it.

Another example is spiral galaxies. It is well known that spiral galaxies rotate differentially, with the inner regions rotating significantly faster than the outer regions. Thus, if any spiral galaxy were more than 1 billion years old, its spiral structure should be so tightly wound that it would no longer be discernible. Yet this is not what we find. Spiral structure is easily visible in most face-on galaxies, indicating the youth of these galaxies regardless of their distance from the solar system.

Secular astronomers have created auxiliary hypotheses to rescue their worldview from this evidence. For example, they suppose that some sort of density waves might trigger star formation in spiral patterns thereby continually creating new spiral structure as the old structure dissipates (Lin and Shu 1964). But such a hypothesis has a number of difficulties (the trigger mechanism, contrary observations like backward-wound spirals, etc.) and presupposes star formation (which has difficulties of its own). So the simplest explanation is that the galaxies are young.

Indeed spiral galaxies nearby strongly resemble those found in the Hubble Deep Field—at the edge of our current knowledge of the universe. The spiral structure is clearly seen in both nearby and distant galaxies, suggesting that they are all roughly the same age as we see them now. This again confirms the ASC model. Even the amount of spiral wrapping seems to be about the same for nearby and very distant galaxies as we see them now—exactly as the ASC model predicts.

The ASC model also makes some predictions that are as yet only partially confirmed. Since the model predicts that all regions of the universe should have aged only a few thousand years as we now see them, it follows that there should be evidence of youth in our own solar system as well as distant stellar systems. Creationists have already pointed out a number of such examples in the solar system. Comets, the internal heat of three of the Jovian planets,10 and strong planetary magnetic fields are all things than cannot last billions of years and yet are found within our solar system. I am aware that secularists have their auxiliary hypotheses to explain these things from within their own worldview. Here I simply mean to show that within a creationist framework these lines of evidence confirm a young solar system.

Of course, evidence of youth within our solar system does not confirm the ASC model over and above other creation models. But it does confirm the ASC model over and above secular models. But unlike some creation models, the ASC model also predicts that such things should exist at great distances within our galaxy, and even in the most distant galaxies in the universe. We have already seen indications of youth in other stellar systems.

As one example, most astronomers would concede that ring systems (such as those surrounding Saturn) cannot last billions of years.11 Yet even now there is evidence that at least some extrasolar planets have such ring systems as well. Fomalhaut b, for example, is suspected to have a massive ring system based on its high brightness in visible wavelengths (Kalas et al. 2010). The planet’s brightness in infrared suggests a high temperature which is also indicative of youth (Kalas et al. 2010). Although Fomalhaut b is one of only a handful of extra-solar planets that have been directly imaged so that we have such brightness and temperature data, and although it is not a very distant world by cosmological standards,12 it at least suggests that other extra-solar planets will exhibit the same indications of youth that we find within our own solar system. Extra-solar planet research is still in its infancy. But the prospect of finding evidence of planetary youth (as the ASC model predicts) in other solar systems both within and beyond our galaxy is very exciting.

Conclusions

The distant starlight problem is resolved if we accept that Genesis is using the anisotropic synchrony convention (ASC) rather than the Einstein synchrony convention. The resolution is simple: under ASC, the one-way speed of light when directed toward earth is axiomatically infinite, even though the round-trip speed of light remains 3 × 108 m/s. Thus, the light from stars that are created on the fourth day will naturally reach the earth essentially instantaneously.

Moreover, we have seen that there are good reasons to suppose that the Bible does indeed use ASC. First, the fact that Genesis implies that the light from stars created on Day Four reached earth on that day (“and it was so”) naturally implies the ASC convention. Second, such a convention was the only one available to the ancient world. Thus, if the Bible really is designed to communicate truth to all people-groups at all times then ASC is the obvious choice. The Einstein synchrony convention was not in common use until the early twentieth century, and so it makes little sense for God to use such a convention in the Scriptures. Third, we have seen that the Einstein convention is heavily dependent on the observer’s state of motion. Thus, events that are simultaneous in one velocity frame will be spread over millions of years in another. Even the earth’s annual orbit would cause the Creation Week to become millions of years long.13 There is no hint of this in Scripture, thereby suggesting that the Bible does not use the Einstein convention. Indeed, the problem disappears when we use ASC.

We have seen that synchrony conventions amount to a choice of coordinate system. They are stipulated on the basis of their usefulness. They are not a hypothesis; they are not something that can be “tested” for truthfulness. Stipulating a synchrony convention is mathematically equivalent to stipulating the one-way speed of light. Though it may seem counter-intuitive to those unfamiliar with Relativity, the one-way speed of light cannot be measured without first stipulating it either explicitly or implicitly. In the same way that we cannot test whether the English system or the metric system is “correct,” so we cannot test the one-way speed of light. It is chosen as a matter of convention.

There are an infinite number of possible synchrony conventions. However, two of them turn out to be extremely useful. The Einstein (standard) synchrony convention has the advantage that two observers with the same velocity will agree on which events are simultaneous (regardless of position). The anisotropic synchrony convention has the advantage that two observers with the same position will agree on which events are simultaneous (regardless of velocity). Since Relativity is primarily concerned with velocity frames, it is normally formulated according to the Einstein convention in which the equations take on their simplest form due to symmetry.

However, Relativity can be (and has been) formulated in non-Einstein synchrony conventions (Winnie 1970a, b). Indeed, Einstein himself pointed out that it would be possible to stipulate that the past light cone is the surface of simultaneity, just as ASC does. He states:

We could content ourselves with evaluating the time of events by stationing an observer with a clock at the origin of co-ordinates, who assigns to an event to be evaluated the corresponding position of the hands of the clock when a light signal from that event reaches him (Sarkar and Stachel 1999).

He ended up choosing to formulate Relativity in the standard synchrony convention, not of necessity, but because it has the advantage of being independent of the position (rather than the velocity) of the observer. Of the anisotropic synchrony convention Einstein states that it “has the drawback that it is not independent of the position of the observer with the clock” (Sarkar and Stachel 1999). However, there are other factors that make ASC the superior choice for best preserving the perspicuity of Scripture.

The potential objections to ASC covered above are found to be unwarranted. Most of them deny the conventionality thesis. Many of them beg the question by presupposing that only Einstein synchronization is acceptable, and then arguing that alternatives are unacceptable. Moreover, even if the conventionality thesis were refuted, the critic would still have to show that the Bible cannot be using ASC as a convenient phenomenological system. It is my judgment, however, that the case for the conventionality thesis is quite strong, and cannot be refuted without begging the question.

By merely accepting the ASC as a convention, the distant starlight problem is resolved. However, by making a few additional, reasonable assumptions, we are able to produce a basic model of cosmology—the ASC model. This model makes falsifiable predictions, many of which have already been confirmed. The ASC model implies that all regions of the universe have aged only a few thousand years as we now see them. This prediction is contrary to most other starlight models, including time-dilation models. Yet, the prediction has some observational support, such as the detection of blue stars and spiral galaxies at all distances.

We note that the ASC model only accounts for distant starlight and other earthward-directed phenomena that move at nearly the speed of light (such as neutrinos). It has been suggested that other celestial phenomena require billions of years: collisions of galaxies, jets of material from active galactic nuclei (AGNs), etc. However, I do not believe this is so. It seems to me that the mature creation argument works quite well on distributions of matter. Unlike light, the supernatural creation of matter in a specific configuration does not undermine any precondition of intelligibility; nor do we have biblical information that would be contrary to the idea that God may have created the matter in the universe very close to its present location. So, we should consider the possibility that galaxies currently in collision may have been created in collision. There is no reason to assume that they must have come from a previous state. The fact that it is possible to imagine a previous state which could have led up to the present state is logically irrelevant. After all, it is possible to imagine a previous state which would have led up to Adam’s adult state—namely a baby. Yet Adam did not come from such a state.

Starlight is different because we do have some Scriptural information about its origin. Namely, it really did come from the stars (Genesis 1:15). And our sensory experiences are basically reliable. Therefore events we see happening in space really have happened, which would seem to refute the light-in-transit model. Yet, starlight is not a challenge for a young universe when we consider the anisotropic synchrony convention. Taking all the Scriptural information into account, ASC seems to be implied by the Bible, and naturally solves the starlight problem by reducing inward-directed light-travel-time to zero. Moreover, ASC forms the basis for a new young-universe cosmological model which has made successful predictions.
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Footnotes

1. The perceived problem is even more severe when we consider Adam’s view of the heavens on the day he was created. By conventional thinking, Adam’s view of the universe would be limited to only a few light-days, in which case he would not have been able to see any of the nighttime stars. The Solar System is within this radius. So, the sun, moon, and planets would have been visible. But did Adam have to wait 4.3 years for the next nearest star to “blink on”? If so, then the stars would not have fulfilled their purpose for years. Back
2. I have previously written on the possibility that a non-Einstein synchrony convention may solve the distant starlight problem. That preliminary article was written under my penname Robert Newton and is a precursor to the more in-depth analysis offered in this paper (Newton 2001). Back
3. This conic section is seen as an ellipse from the perspective of O; but this is because his coordinate system is compressed relative to O’ in the x direction due to relativistic length contraction. Observer O’ will perceive the conic section as a perfect circle with himself in the center. Back
4. The Lorentz transformation for the time (t’) of a distant event in earth’s reference frame six months after creation compared to the time (t) during the Creation Week is given by: t’ = γ(t−vx/c2) where x is the distance to the galaxy at creation, v is the relative velocity of earth at creation compared to six months later, c is the speed of light, and γ = 1/√(1−v2/c2). The orbital speed of the earth is 29,785 m/s. So the relative velocity of earth (v) on one side of its orbit compared to the other would be twice this value. The distance to the galaxy (x) is 13 billion light years which converts to 1.23 × 1026 m. The time (t) may be set to zero for our purposes, since we start the clock when the galaxy is created, and γ is closely approximated as unity, since the earth moves slowly compared to the speed of light. We find that t’ = 8.25 × 1013 s which converts to 2.6 million years.Back
5. In Special Relativity an “inertial observer” is one who moves with an unchanging velocity and without rotation. Back
6. However, it would inappropriate to read the Bible’s measurements in cubits as if they were meters. The point here is that it is acceptable to convert from one measurement convention to another. Back
7. I was more open to this idea in past publications: that is, “Distant starlight and Genesis: Conventions of time measurement” (written under the penname “Robert Newton”). But, I now consider the conventionality thesis to be very well-established. Back
8. By itself, a large degree of time dilation should produce an extreme universal blueshift. Galaxies in which clocks tick more rapidly than on earth will naturally appear blueshifted since the atomic processes producing the light are sped up relative to us. Since we do not see a universal blueshift (on the contrary, we see a universal redshift), the simplest explanation would seem to be that the galaxies are not substantially time-dilated. This is not conclusive however, because the effects of universal expansion (which tend to produce a redshift) could, in principle, overcompensate for the effects of time-dilation. Back
9. There is a departure from this rule as redshifts become extreme. The universe will appear slightly less than 6,000 years old at extreme distance due to differential aging. This is not due to gravitational time dilation; rather, it is caused by the expansion of the universe. This causes a positional change of the distant galaxies relative to us, producing a cosmological time dilation. Back
10. Jupiter, Saturn, and Neptune have internal heat. Uranus does not. Back
11. This is not meant to be taken (by itself) as an argument for a young solar system. It is simply one of many indicators that are consistent with a young solar system. A number of secular astronomers will readily concede that Saturn’s rings are a recent phenomenon while maintaining that the planet itself is billions of years old. Back
12. The Fomalhaut system is only about 25 light years away. It is therefore unlikely to be useful (by itself) in establishing the ASC model over and above time-dilation models, since such models most likely would not predict significant time dilation effects over so short a distance. My point here is that in the future this type of data analysis for more distant star systems could be very useful in judging between the predictions of the ASC model versus those of time-dilation models or other models. Back
13. The ancient Hebrews may not have known about the earth’s orbit around the sun, and it is very unlikely that they could have known how large the visible universe is. So, they may not have perceived this as a potential problem. But God has always known about these things. It is ultimately God’s Word that tells us that the entire universe was created in the span of six days (Exodus 20:11). Therefore, any conclusion contrary to this (using the same terms in the same way but drawing a different conclusion) is unacceptable, even if the Hebrews would not have understood it as such. Back
(下面中文使用谷歌翻译。需要修正和编辑。)
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各向异性同步性公约“遥远的星光问题的解决方案
贾森 - 莱尔
2010年9月22日
摘要
在这里，我们探索出一种来自遥远星系的光在“圣经”的时间尺度可以达到地球。虽然宇宙是创建成熟，我们会发现，这本身似乎不足以解释我们看到远处事件的能力，促使“遥远的星光问题需要解决的。”同步公约在物理概念研究。相对论物理学排除绝对的，不变的同步空间的事实进行审查。然后，我们探索的后果，并使用标准的爱因斯坦同步公约的动机，其次由一个替代同步公约的调查。
特别是，我们发现以观察员中心各向异性同步公约的消除了径向向内导向光速旅行时间减少零观察员的参照系遥远的星光问题。这样一项公约意味着，宇宙中的一切，有几千年的时代，因为我们目前看到它。圣经这样一项公约的基础上进行了探索。被认为是潜在的反对这一公约同步。时各向异性同步公约的适用于标准宇宙学参数，出现一个新的宇宙年轻的宇宙模型，这使得证伪的预言。
关键词：轻旅行，年轻的宇宙中，遥远的星光
介绍
据“圣经”，宇宙中的一切，在六天的跨度（出埃及记20:11），这显然是普通的一个晚上和一个早晨（创世记1:5）组成的地球自转天。此外，这次创作发生了几千元（约6000）年前，从族谱，我们在读“圣经”的章节，如创世记5日和11推导。因此，明确的圣经教学是宇宙中的一切是几千岁。由于光速在一年一光年的距离（约6万亿英里或900万亿公里），似乎我们应该只能够看到物体超出该距离内半径6000光年年。1对象不应该可见，想必他们的光，还没有达到我们。然而，矛盾的是，我们可以看到星系的测量已是数十亿光年之遥的距离。这种明显的奥秘往往已解决“遥远的星光问题。”文学创作
“圣经”创作的批评家们往往试图使用遥远的星光赞成和反对的大爆炸起源的证据。但是，这种批评在逻辑上是不合理的，因为大爆炸本体相当于问题的地平线上的问题。当然地平线问题的解决方案已被提出，但没有通用协议（莱尔2006年）。事实上，宇宙是非常大的，还年轻（按世俗的标准），因此没有逻辑作为对“圣经”的批评时偏爱的替代品也有轻的旅行时间问题。
成熟的创作
有人曾建议，神超自然的光自己创建的梁。也就是说，从地球的每一个明星的光束创建“过境”星创建在同一时间。鉴于此航路模型往往在成熟的创作中提出：上帝创造了宇宙从一开始就完全功能，宇宙的需要，没有时间或过程，成为上帝要它是什么的想法。
成熟的创作有时不恰当地称为“外观年龄”，但后者的长期谬误意味着可以看出，年龄或其他经验测量。但因为年龄不是一个物理属性或物质，它不能直接观察到。当然，有一种感觉，在我们说的东西似乎老或年轻的一个人，谁看起来“年轻”，他的年龄，或汽车，看上去很“老”。在这种情况下，我们说话的习惯用法，比较观察的特点然后推理的基础上与其他样品的年龄被称为比较。这当然是没有可能的，因为宇宙有其类只有一个已知的成员（2008年Chaffey和莱尔）。
严格地说，这不能出现老或年轻，因为年龄是不是一个观察的财产。年龄是一个概念，历史的象征，不能在目前观察。当有人说，他相信宇宙“看起来老”，这只是显示一些有关他的假设，而不是有关宇宙的初始条件。因此，宇宙是没有创建“外观年龄”，但它是成熟的，在某种意义上说，它的作用在上帝的创造它立即创建。正如亚当被创造的成熟，需要没有时间或达到成年的过程，所以是宇宙。
对一个年轻的宇宙中的许多论点确实很容易反驳指出，宇宙成熟，因此，一个“老地球”的倡导者认为不正确的初始条件。今天，例如，树木需要一定的时间，达到一定规模。但创建的第一棵树超自然，需要不到一天，以达到它们的大小。如果有人假设，第一棵树来关于今天的自然过程（从种子在今天的速度增长），他或她将大大高估的年龄。
绝大多数的旧土，或旧的宇宙参数是荒谬的，因为它们是基于错误的，不符合圣经的初始条件。例如，假设，宇宙开始没有大小，或太阳系形成的星云，然后推断多久将达到目前的状态的课程之一，势必会达到一个错误的年龄估计是夸大了数以百万计的一个因素。旧宇宙的支持者经常犯这样的错误。他们武断地认为不符合圣经的初始条件，然后使用所产生的虚增年龄的估计，认为“圣经”是错误的。但是，当然，这只是引出了一个问题。
光在交通模型
成熟的创作是“圣经”的概念，并轻松地显示老地球的大部分声称是谬误。但遥远的星光属于这一类？轻旅行时间计算时所涉及的假设之一是，光确实起源于恒星​​。如果上帝创造了横梁光航路，然后他们没有起源于星星。这确实消除了遥远的星光问题。然而，这个提案中提出了自己的圣经和哲学上的困难。我认为这是合理的（事实上的必要）假设遥远的星光，其实源于明星，并没有在运输过程中创建的。拒绝过境光认为有以下几个原因。
首先，这一观点存在着严重的圣经困难。创世记1:14-15表明，上帝创造了天空中的灯，以纪念时间的推移和在地上。第16节告诉我们具体是什么，这些灯是：上帝创造了太阳，月亮，星星也。第17节重申，这些轻，承载的目的之一是在地上。在结束的第15节“，它是如此的”这句话表示，这些光轿夫立即开始履行他们的上帝赐予的目的在地上。
但是，这是问题：如果上帝创造了在途的光，然后光并没有真正从星星来。事实上，它不能正确地被称为“星光”，但如果光的航路模型是真实的，而“上帝之光。”，然后约6000光年以外的所有明星尚未履行其神命定的目的，让光在地上，但创世记1:14-15表明，从他们的创作天星完成其目的。
有哲学以及关于清晰度的前提是一个严重的困难。这些都是必要的东西，对宇宙的认识。例如，我们的感官的基本可靠性是可理解的一个先决条件。显然，如果我们的眼睛，耳朵和其他感官并不能准确地了解外面的世界我们的心，我们就没有希望了解任何有关宇宙。我们都假定我们的感觉是基本可靠的，我们不只是大脑在一个关于一个虚构的“黑客帝国”的世界馈电脉冲的罐子。
图1。超新星1987A。如果光在运输模型是正确的，那么这颗恒星永远不会实际存在的，从来没有真的发生了这次爆炸。这将意味着这个图片不符合任何真正的对象，但仅仅是由上帝创造出来的光束的图片。
可懂度的前提必须是真实的，因为没有他们，我们可以不知道什么。因此，任何破坏了可懂度的前提必须是假的。但光在过境模式，破坏了我们的感官的基本可靠性。考虑：光在运输模型，将意味着所有事件（例如图超新星1）约6000光年以外从来没有发生过。他们仅仅是由上帝创造出来的光线束的图像序列。这些图像将不符合任何真实事件。
但是，如果上帝愿意在6000光年以外的距离电影虚构的事件，那么为什么我们随意假设，他也不会使附近虚构的电影？ （窗外真正的树，或者它仅仅是由上帝创造的光束中嵌入的图片吗？）光航路模型要求我们观察到约6000光年以外的事件（其中包括绝大多数的宇宙）是虚构的，因此，我们的感觉是不可靠的距离。如果我们不能相信我们的眼睛为99.9999％的宇宙，那么，为什么我们应该相信他们是附近的0.0001％？因此，光航路模式导致的必然的结论，我们的感觉是一般不可靠的，在这种情况下，它没有意义，甚至试图理解宇宙。是的，上帝创造了宇宙的成熟。但是，这并没有减轻遥远的星光问题的本身。
圣经意味着同步性公约“
创世记本身可能会建议一个遥远的星光简单的答案。在创世记1:14-18神告诉我们，明星们在第四天创造在地上。这段文字似乎也强烈建议，星星立即完成他们的目的（“它是如此”）。因此，它似乎由恒星发出的光到达地球瞬间，或接近。这表明了同步约定：由距离。2分离同步时钟的程序
两个事件说成是“同步”，如果他们都发生在同一时间。当两个事件相隔一段距离，我们想知道他们是否是同时，我们必须首先建立一个系统，测量在不同地点的时间。特别是，我们必须确信我们正在使用的测量时间在两个地点的任何时钟同步。因此，我们必须制定一个距离分隔的时钟同步过程。这原来是比人们可能首先承担更为复杂。然而，我们会找到正确的同步惯例，消除了遥远的星光问题。从最遥远的星系的星光可以到达地球上创造周的第四天，当采用正确的相对论同步公约。
同时发生在经典极限
我们解决相对论同步公约之前，它是有用的检查同步的概念，在古典，牛顿的限制。狭义相对论的发现之前，测量距离和时间被认为是不变的：绝对和客观的参照系（速度）或观察员地位的独立。由于议案不影响根据牛顿物理学时间的推移，两个时钟的同步是微不足道的。只需在同一地点同步两个时钟，然后将它们移动到所需的位置。时钟保持同步的经典极限。如果我们想象做这个过程中，为无限数量的时钟，然后分配这些时钟在整个宇宙中的三维网格，我们可以判断任何可能发生的事件的时间。在事件的位置，时钟记录的时间。
假设我们想知道如果在宇宙中的两个事件，两个雷击说，在同一时间发生。也就是说，我们想知道，如果两个事件同时发生。在我们的系统，这是很容易做到。简单地读取时间的时钟，在瞬间发生的事件和与事件B的时钟时间在那一刻发生。如果时间是相同的，那么这两个事件说成是同时。如果这两个事件是不同步，然后从第一个事件的粒子排放恰到好处的速度可以到达第二个事件发生的时间恰好在第二个事件的位置。
如果这两个事件是亲密的空间，但广泛应用在时间上分开（第二个事件发生后的第一个长），然后缓慢移动的粒子可以通过从第一到第二。如果这两个事件在太空中相距甚远，但只有很短的时间将它们分开，然后高速粒子可以通过从第一到第二个。然而，如果两个事件同时发生，没有（有限）的速度将快速从一个粒子到达其他足够。没有能量可以加速粒子的有限质量要求其行程的瞬时无限的速度。这使我们的“同步”的概念提出了可能的定义：
两个时空中的事件的同时，如果（大众拥有）粒子只有当不能移动，从一个事件到其他。
图2。同时在经典极限的空间和时间两个维度的宇宙事件共面。
为了说明这一点，让我们考虑一个宇宙，只有两维空间和时间，这样，我们就可以代表整个多方面的，在时间纵轴上的3维量的时空，每标准相对论图（见图2）。在图中，快速移动的粒子，因为它穿越了大量的空间，在很短的时间内有近水平的斜坡。相反，一个缓慢移动的粒子有一个近乎垂直的坡度，在相当长的一段时间，因为它穿越的空间非常小。一条垂直线代表一个固定的粒子。让我们考虑一个固定的观察员，在特定的时间和地点（P）（海外），并想象这观察员将如何使用上述的定义，以确定它在宇宙中的其他事件正是在这同一时间发生。
在此图中，一个事件p是同时事件q的粒子，因为没有速度不够快，从P到Q-这个旅行将需要无限的速度，这将需要无限大的能量，在经典极限。事件事件r p是不是同时，因为一个合适的速度粒子从P到R旅行。既不是事件与供磷的同时，因为一个粒子可以前往从s到p。此外，没有任何有关事件首先发生歧义。显然，p和q以下的事件发生之前，p和q，纵轴事件高发生后。任何与CT相同的p和q的值点是同时与p和​​q。因此，在牛顿的空间和时间两个维度的宇宙中，所有与p并发事件表示水平面通过p传递。所有观察员，无论他们在宇宙中的位置或速度会同意对这些事件的相对和绝对的时间。
同时发生在相对论物理
图3有限光速划分成两卷时空：空间一样，时间。正是在锥体的点被称为光像。
当我们考虑了相对论的宇宙图片变得更为复杂和有趣。时间和空间不再有客观的观察者的独立地位，它们在拥有牛顿限制。最明显，颗粒不再允许有无限的速度。大规模的粒子可能有速度可达（但不包括）以光的速度。光线的有限速度基本上分为时空图光锥的内部和外部两个域。 3。这些锥体代表排放（上锥的情况下），或（在较低锥）事件供磷吸收的光突发。如果我们假设，公理，在相同的速度相对观察员在各个方向的光，产生的光路形成两个对称的圆锥体相交于点p提示。 p的光锥的内部事件在相对论文学，被称为“时间”事件（分离时间，因为他们从P是大于他们在空间分离），而那些为P的外部（如S点）被称为“空间。”锥体本身（如ℓ）的事件被称为“光象”的事件。
如果我们认为是类空相为p，我们发现，这符合我们先前定义的“同步事件（Q）。”NO（有限质量）粒子可行驶从P到Q，因为这种粒子会比光跑得更快，这是不可能用有限的静止质量的粒子。即使光线不是足够快，达到从P Q。同时性的区域不再是一个平面，因为它是在经典极限，但是（潜在的）外部事件带够的光锥的体积。因此，q和p可以考虑同步。同样，事件r可以被视为与事件带够同时，由于没有粒子可以从一个到另一个旅行。
图4。虽然r可以同时与Q与P Q，R不能同时与Q由于R在于Q的光锥内。事件r是到Q的时间一样。
图5，假设单向光的速度是各向同性的同时是平面S0的事件p的定义。
然而，当我们考虑事件Q和R的光锥，我们发现，出现不一致。这些事件（Q和R）是对方的光锥内（见图4）。虽然他们到p空间一样，他们是尊重对方的时间类似事件。从Q排放将达到一个有限质点r如果有合适的速度。因此，尽管q是我们的工作定义，同时具有p，虽然P与R的同时，我们发现，q是不是与R同时，实际上是明确之前ŕ。由于q是在过去光锥的r，和r Q的未来光锥是，它似乎不一致的同时给他们打电话，甚至从第三点（P）的角度。这导致我们寻求一个更好的定义“同步”。
为了消除上述不一致的，我们需要选择一个点的2维子集，我们的3维时空，是外部的光锥的体积。该子集，我们将定义为一套同步事件，P（见图5）。这个新的定义将确保任何情况下，是任何其他的同步事件的光锥内，从而保证，导致经常发生之前，在所有参照系的影响。如果我们再次作为公理，光速相对观察员在各个方向的速度相同，那么飞机（S0），这是光锥轴（CT）正交将代表的事件，同时集与p。这是因为飞机S0是唯一通过P的飞机在同一位置为p的事件，但在一个较早的时间（P1）的光锥，其中一个作为一个圆圈相交。圆圈表示，从这个事件，在相同的时间内走遍四面八方相同的距离。换句话说，当且只有当我们定义点，同时具有p S0的飞机，我们会发现，光速在所有方向相同的速度，这是我们的出发公理。在稍后时间在同一地点（Q）发生的事件将同时由平面S1（见图6）中定义的所有事件。
同时性的相对性
图本来就全靠平面上的S1事件与事件Q和R同时由O.观察
图7。所有事件的平面R与R同时由O'观察。
我们已经在上面做的，是在一种特殊的方式来定义我们的坐标系。具体来说，我们定义“同时发生的事件”，在这样一种方式，通过建设，在相同的速度相对观察员在各个方向传播。这就是所谓的“爱因斯坦同步公约”，并表示通常相对论物理学。首先，它可能看起来，这给我们的同时完全自洽的和客观的定义。然而，当我们考虑一个观察员，正朝着相对事件带够，我们将看到不同步的定义，这是不变的，而是依赖参考帧。在相对论物理，“参照系”是一个观察员或观察员组，所有在同一恒定速度（相同的速度和方向），通过空间的举动。每个观察员被允许考虑自己固定在宇宙中所有其他对象的位置和运动的观察员是公理总是在空间坐标的原点坐标系统为基础。观察员的路径，通过时空（海外）仅仅是他自己的时间轴（CT）。
考虑另一个观察员O“移动到O，但恰好是在同一个地方时间= 0。也就是说，这两个观察员通过事件带够。在稍后的时间，将“O通过事件q通过一些O和O之间的距离，而O”通行证通过事件r。在Q，观察员O将结束平面S1的所有事件与q同时，因为光锥相交圈的中心作为一个与Q的那架飞机。然而，观察员O“不会来了同样的结论。不集中对r的圆的交点之间的光锥和平面S1。因此，光不会被相对观察员O“在所有方向相同的速度行驶，如果S1代表他的飞机，同时性，这违反了我们的出发公理，任何观察员在各向同性的时尚光的传播。
相反，观察员O“会认为平面R（见图7）代表点，同时与R组，因为这架飞机以这样的方式相交的观察员在在其他center.3是，光锥也就是说，平面R中的光已经走过相同的速度相对观察员O“在所有方向的平面。这导致了一些有趣的后果。观察员O将得出结论，事件和事件q是同步的，米事件之前发生的事件小号，因为事件m是平面S1以下，因此有一个较小的值的时间（CT）坐标（图6所示）。然而，观察员O“将结束这一事件和事件q不同步;事件小号之前发生的事件q起事件的井平面以下是R和事件q是略高于（见图7）。此外，观察员O“的结论是，事件米后发生的事件小号，因为米以上，同时平面（R）的，而在于的谎言以下。洛伦兹变换可以用来转换的O的坐标系统的坐标系O“，反之亦然。这里最重要的是，不仅做O和O'不同意与否的事件是同步的，他们甚至不能同意对事件发生的顺序！这项研究的现象被称为“同时性的相对性。”
出现这样的悖论，因为我们直觉想到时间和空间是独立的观察员。但是，宇宙的根本不是这样的。空间的程度和时间间隔测量的坐标，我们基本上是观察员依赖，因此总是会有可能值的范围时，我们指定坐标到任何时空的事件。同时性的相对性是众所周知的，覆盖在狭义相对论最入门教材，更严格。虽然爱因斯坦同步是明确和自我一致的任何一个参照系，这是不可能构造一个同步的定义，客观上是在所有地点的所有速度参照系相同。
上一周的创作的几点思考
同时性的相对很少在创建基于文学的讨论。但它是至关重要的，以圣经为基础的宇宙模型的建设。让我们假设的论点，即描述宇宙创创造使用爱因斯坦同步的缘故，是神描述了​​事件发生的时间，方式是在同一个系统，天文学家和物理学家今天使用。大多数神创论隐含假设。以来创造的天体（天灯）上发生的第四天，所有的恒星被创造的同时，或接近（在24小时内）。但是我们刚才看到什么被认为是“同时”是相对于观察者的参照系。因为神是无所不在的，他会选择什么参照系呢？地球的参照系是显而易见的选择，因为天创造地球旋转（“晚上和今天上午的第十届”）。此外，由于“圣经”是人类的书面，它会随时原因，所有人类居住的星球上，将参考帧上帝会使用所有的时间戳记。
然而，一年四季地球的地球变化的参照系绕太阳。其速度方向是不断变化的。因此，创造明星是否是同时相对第四天地球（爱因斯坦同步测量），那么它可以不被同时相对地球只有第六个月后（当地球对太阳的对面时，和在相反的方向移动）。事实上，时间的蔓延，成为巨大的，当我们考虑到的最遥远的星系。
例如，考虑13亿光年远的星系。和想象，它是在位于相反方向，地球在其绕太阳的轨道是在一周的创作。然后，如果这个星系的第四天根据爱因斯坦同步公约的创建，我们发现，半年后（当地球正朝着这个星系）就已经创造了260万年前，地球之前由洛伦兹变换！也许甚至更奇怪的是，如果我们考虑的相反方向，这样，地球正在向它移动在其创作中一个星系，也是13亿美元光年远，并在第四天创造，洛伦兹变换告诉我们，这个星系从地球的参考框架六个月后不会被创建！它的建立将是260万，在未来几年。
这种效果是在图所示。 6日和7日。观察员O代表在其创作的地球。事件s表示创建的第一个星系，我们认为，事件n表示，我们认为第二个星系。平面S1代表了当时（即四节）的整个宇宙。我们看到，事件和事件N（这两个星系的创造）第四天发生的预期（见图6）。六个月后，地球上有不同的速度帧，现由O“（见图7）代表。因此，平面R代表了当时整个宇宙。我们可以看到，该事件现在是在遥远的过去，这表明，星系在很久以前（260万年前从洛伦兹变换）。鉴于事件n现在在地球的未来在于该星系将不会创建为2.6亿年。
爱因斯坦同步在物理学中是非常有用的，确实有明显的优势比其他系统。但是，正如我们已经看到，这也导致了一些比较奇怪的结果。两个宇宙遥远的事件，被认为是在一个参照系的同时，将不可避免地被分离了数百万年，在另一个参照系。更普遍的，任何两个空间类似的事件将被视为同时在一些参照系。在其他的参照系，将发生之前，其他;但是，它们出现的顺序将针对不同的速度范围是不同的。因此，如果建立在宇宙中的所有星系是在一个参照系的同时，将摊开超过百万年前在另一。和地球不断变化的参照系，在其年度的轨道。
我们可以选择一些其他的参照系，一个不随时间而改变，如整个宇宙的质量中心，解决这种差异。然而，这似乎是相当武断的，和圣经不必要的。基本上所有其他时间引用圣经中，在地球的时间方面，特别是本地时间在所讨论的位置。为什么让一个异常成因？这将是没有什么特殊的恳求。自创建天总是早上和傍晚的​​约束，它似乎很清楚，速度框架用来描述创建帐户（一般整个“圣经”），是地球。
由于整个宇宙的创造了六个地球自转天的时间表内的地方，我们必须弄清什么同步公约神使用时，他谈到第四天创造了明星。我们已经看到，如果我们假设这是爱​​因斯坦同步测量的第四天，然后创建需要在六天的地方，只有当地球在一个特定的速度在某一特定方向移动。因此，这6天成为遍布了数百万年，当地球在其年度轨道的方向改变。圣经中这样的事情，但没有提示。 “圣经”只有谈到创作在很短的时间跨度（6天），无论语句时（例如，​​创世记，出埃及记20:11，马克10时06分）发生。此外，事实上爱因斯坦同步测量时，在遥远的未来在于创造一些星系似乎与创世记2:1-2，这表明上帝的创建工作已完成，上帝不再创造冲突。爱因斯坦同步公约“似乎创建一个不一致的，适用于创世记1时。这表明，“圣经”不使用爱因斯坦同步？这使我们要问是否有可能是同时发生的替代定义创建需要在六天之内发生在其他时间，无论在地球的速度。
替代同步性公约
爱因斯坦同步公约，我们一直在努力，到目前为止是基于两个公理。首先，如果（大量）粒子可以从事件旅游事件B，那么这两个事件并不同步。这个标准是必要的保留原因和影响的关系，并消除了光锥内的音量。第二，以消除任何剩余的歧义，我们选择了只有2维子集，其余各点：平面光锥相交了一圈。这是相当于假设，光在相同的速度在各个方向上的相对任何观察员。为简单起见，我们选择。然而，这第二个公理实际上是不可能的狭义相对论（爱因斯坦1961）的要求或前提。相对论只需要双向的时间平均光的速度是恒定的任何观察员。虽然爱因斯坦的同步通常用于特定的系统，在该方程表示，这是不是一个要求。通过丢弃这第二个公理，我们发现有同时发生的替代定义任何给定的观察员，在逻辑上是一致的。
原则上，我们可以选择任何的P光锥的二维多方面的外观，提供，没有在这多方面的点内的任何其他点的光锥。任何同时这样的定义将是自洽的任何给定的观察员，将保留的因果关系。例如，我们可以选择，同时性是相对光锥平面倾斜。这样的定义是相当于假设了光的传播，在不同的速度在不同的方向。这是允许的相对论，提供往返速度是任何观察员不断。事实上，它已被证明狭义相对论可以使用非爱因斯坦同步公约表示，作为一个自由参数（温妮1970a，b）条的单向光的速度离开。
因此，可无限数量等同步公约的规定。然而，并不是所有的这种选择将是非常有用的。但有一个特别有用。让我们考虑所有点p的过去光锥被视为同时非爱因斯坦同步公约。已使用的技术资料（1999年Sarkar和施塔赫尔）本公约。此外，爱因斯坦本人认为使用此公约，但优先使用标准的约定，因为它是独立的位置（我们很快就会看到）。为了避免有因果关系连接同时发生的事件，我们可以移动锥体无穷如下过去光锥之外。
图8.A周围一个无限小的角φp的过去光锥的锥被定义为这些事件同时具有p。
我们定义为“同步”较低（过去）的光锥角φ的P其中φ代表一个无限小的数量（见图8）周围形成一个锥形的事件集。对于所有的实际目的，我们使用的是较低的光锥表面的同时，除了我取代它由一个无限小的量（φ）为了确保同时发生的事件总是空间一样，而不是光般，从而使他们的因果关系无关。这是各向异性同步公约的（ASC），因为我们有规定，在不同的速度，取决于它的方向或相对位置，以观察员澳光很显然，这个定义符合我们的标准。首先，没有积极的休息质量的粒子可以乘坐从任何其他锥上的任何事件。第二，没有这个圆锥的一点是任何其他点的光锥之内。虽然ASC缺乏爱因斯坦公约的数学对称，它有一定有趣优势。
请注意，自事件P，M，N和S锥的表面（或无穷外部的），他们都认为同时根据ASC定义。此外，自观察员O“股份作为观察员在点pØ相同的光锥，这意味着观察员O”也认为事件P，M，N和S是同步的。这是一个独特的功能：ASC的观察家都同意在同一地点上的事件同时无论观察者的速度。记得爱因斯坦同步公约“缺乏此功能;两个观察员将在同一地点（一般）不同意上的事件是同步的，如果观察者有不同的速度。爱因斯坦同步公约“的要求，两名观察员有相同的速度（位置），如果他们同意，在宇宙中的事件是同时。显然，而非速度独立的立场，独立的同步公约的偏好，爱因斯坦自己喜欢使用的惯例，现在他的名字命名（1999年Sarkar和施塔赫尔）的原因。
形容创作的影响，使用升序
如果我们假设参数的缘故，“圣经”使用各向异性同步公约的（ASC），以上描述事件发生的时间时，定义，我们发现，这消除了我们根据爱因斯坦同步公约的遇到的问题。记得，根据爱因斯坦的同步是瞬时的，当地球轨道的一侧是遥远恒星的创造，然而，创造成为传播数百万年仅半年后。这是因为从洛伦兹变换计算的两个参考帧的速度差异。然而，与ASC，速度并不重要。 （海外）都在创造地球和地球6个月后（O“）有大致相同的位置，速度，即使是完全不同的。因此，升序下，双方将考虑建立星星是日同时四连最遥远的星系。
最显著的是，ASC减少向内导向光旅行时间为零。由于ASC定义为无穷接近过去光锥的同时性，因此，创造一个明星第四天发生，因为从该恒星的光，在本质上是相同的时间到达地球。根据ASC的“遥远的星光问题”消失。即使是最遥远的星系上创建第四天，它的光到达地球第四天同时有效。当然，ASC解决了遥远的星光问题的事实，没有事实本身意味着它是“圣经”所使用的惯例。尽管如此，迄今为止，我们已经看到：（1）“圣经”，如果使用ASC，以纪念在创世记的时间，然后（2）在遥远的星光问题解决。这个命题的第1部分仍有待证明。然而，我们已经看到了一个强大的，它可能是这样，因为ASC消除的创作周时发生的洛伦兹变换被应用到地球的年度轨道的同步问题的建议。
同步公约和光的单向速度
理论和实验证实光在真空中往返的速度是恒定的相对任何惯性观察员.5因此，如果我们把光线和弹跳把一个或多个镜像，这样它返回到它的源位置，时间需要将保持不变，对于一个给定的距离（任何惯性观察员执行实验），由L / C，其中L是路径的总长度和c是光的速度（往返）。然而，在任何一个方向的光的速度不一定是常数。单向光的速度是反直观的，因为它可能似乎不是一个性质不变，但公约的问题。这是我们可以选择，我们选择保留的因果关系，是自洽的，并提供往返光速度仍然是完全Ç。
该选择同步公约的行为是定义光的单向速度的代名词。如果我们选择了爱因斯坦同步，那么我们就已经宣布，以光的速度是在所有方向相同。如果我们选择“升序，那么我们就已经宣布，光线基本上是无限快，直接朝观察者移动时，½C移动时直接离开。下升序作为观察员（θ）相对方向的功能，光的速度由Cθ= C /（1-COS（θ）），其中θ= 0表示直接向观察者方向。
似乎违反直觉的，我们可以简单地规定了光的单向速度。看来，光单向的速度应该是明确的和可衡量的，在这种情况下，我们不会有自由选择替代的同步公约。然而，事实并非如此。我们应该记住，人们一度认为，在时间和空间的长度工期目标和明确的，无论观察者的速度。但是，爱因斯坦的发现排除这种可能性。在接下来的两节中，我将表明，单向光的速度是传统。这是我们规定的东西，而不是一个独立的衡量宇宙的财产。这将是更彻底的治疗方法是在技术文献（鲑鱼1977年温妮1970a，b）的简要回顾了什么经常被称为“套子论文”。
试图衡量光的单向速度
测量光往返的平均速度在原则上是相当容易的。我们可以设立一个时钟在位置在位置B的一面镜子，它是距离S答：我们发出一束光线从时钟在位置A;束反射镜在B返回到A，我们减去当光线从时间离开时，它返回调用的区别ţ时间。往返时间平均光速C = 2S /吨。
我们可以尝试通过一个类似的实验测量光的单向速度。但因为光线不再是一个封闭的路径上，我们现在需要另一个在B的时钟记录的时间，在光线到达。光时钟B减光在时钟出发时间抵达时间是t。单向光的速度，似乎是Cθ= S / T。但有一个陷阱。为了让我们获得了正确的答案，我们必须肯定，B的时钟同步时钟两个时钟一个，即在同一时间同一时间读。这个看似简单的任务，结果是令人惊讶的困难。
我们如何同步的时钟信号，时钟B？假设，我们发出的无线电信号从时钟A来袭时中午。时钟B，然后设置时至中午十二时，当它接收到这个信号。但这里的问题是，无线电信号已经采取了一些时间前往从A到B那么，也许我们应该设置时钟B位提前一个中午，当它接收到的信号。但是，我们应该如何遥遥领先设置它呢？当然这将取决于量的时间了无线电脉冲从A到B的无线电波在光速旅行前往。但光单向的速度是非常的事在这里的问题。因此，我们将不得不提前知道光单向的速度，以与时钟同步时钟B，以测量光的单向速度。在catch-22是明确的。
其他类型的信号遭受同样的问题。所有其他类型的信号直接或间接地取决于光的单向速度。例如，从A到B的时钟同步的电信号发送没有好处，因为在本质上是光速，这是问题的数量的电力旅行。即使是声音信号是依赖于光的单向速度，因为原子的碰撞是一种电磁相互作用;和电磁场在光的速度传播。
另一种方式，我们可能会尝试在A和B的时钟同步是使A和B的时钟同步两个在同一地点。这消除任何含糊之处，由于光速​​旅行时间。我们的时钟，然后移动到B点，这是很简单，但再有一个catch。爱因斯坦告诉我们，运动影响时间的推移。所以，虽然两个时钟的确是同步的，当他们在一起的，一个时钟移动到B的行为已引起使其成为在A多少是关闭的时钟不同步，将取决于对光线的单向速度，非常有问题的问题。
慢时钟运输
有些人提出了一个方法，我们可能克服答：时钟同步时钟B的难度，由于运动影响时间的推移，如果我们点两个时钟同步A，然后移动到B的一个时钟，然后回一个，两个时钟将不再读取相同的时间。如果我们重复这个实验，但时钟B移动慢得多，我们会发现，这将是更接近A的时钟同步，但仍然不完全。
虽然我们不会在这里重复的证明，这是狭义相对论的一个后果，完全与时钟同步时钟B将一个时钟B的速度为限制，如果我们在这个实验中去零（鲑鱼，1977年，第264页温妮1970a，第96-97页）换句话说，时钟B将非常接近同步的时钟信号，只要为我们尽可能慢地移动它。在此基础上，一些人建议，慢时钟运输将使我们距离分隔的时钟同步。简单的同步时钟B的时钟，一个当两个时钟具有相同的位置。然后时钟B移动到一个遥远的位置，尽可能慢，（它声称），它仍然应该同步时钟答
这听起来是合理的，方法有一个根本性的缺陷，已经取得了一个关键的假设。我们知道，从狭义相对论，提出一个时钟慢慢地仍将有其固定的对口同步时搬回原来的位置（在零速度的限制）。然而，我们只是假设，整个旅程保持同步。换句话说，我们如何知道，时钟B没有赔十分钟时，转移到遥远的位置，然后随后获得10分钟时移回A的时钟？它很可能是传出钟表经验的时间比输入时钟不同。狭义相对论只要求增加的净效应为零时，时钟B返回家在零速度的限制（温妮1970a，第96-97页）。从A可以计算的金额，因为它不同步的时钟B成为获得距离，但只有单向光的速度在事先知道。
在所有情况下，单向的光的速度必须首先规定之前，我们可以构造任何实验测量它。因此，在最好的，这样的实验只能显示的一致性。但他们表现出许多不同的同步公约的一致性。如果我们两个遥远爱因斯坦同步公约的时钟同步，然后用这些时钟来测量光的单向速度，我们会发现，这是在所有方向相同。这一结果是不足为奇的，因为我们在一开始就承担。非常爱因斯坦同步方法隐含的前提，以光的速度是在所有方向相同。
如果我们重复实验，这个时候我们的时钟同步由ASC，那么我们就会发现，光的速度在不同方向的确认（但没有证明），我们的出发前提是不同的。因此，这样的实验不能实际上测试不首先规定的单向光的速度。结果是自洽的，但其他同时发生的定义也导致自我一致的结果。虽然已经有尝试反驳套子论文，到目前为止，所有这些尝试都巧妙地预设为这两个时钟是同步的方法爱因斯坦同步，因此，他们恳求的问题，并没有有力的驳斥（Sarker及施塔赫尔1999） 。
爱因斯坦本人指出，测量光的单向速度，企图本质上是圆形的。在讨论A和B两个闪电的同时，由站立在M正是在他们之间的人认为，他说，
。 。 。如果只有我知道，手段，其中在M观察员感知闪电光速沿长度相同的速度沿长度一→M乙→研究，但考试只会是可能的，如果我们已经有了在我们所掌握的手段，测量时间。这样看来，虽然我们在这里的逻辑圈。 （爱因斯坦1961年，第22-23页）。
爱因斯坦正确的结论，单向光的速度是不是一个性质的实证数量，但一个人的选择。他指出，
光线要求同时遍历路径的路径A→M B→M是在现实中既不是一个假设，也不是一个关于光的物理性质的假设，而是一个规定，我可以以我自己的自由意志[重点]原来是同时发生（爱因斯坦1961年，第23页）的定义到达。
这个结论是相当深刻的。既然我们不能（即使在原则上）曾经测量光的单向速度，爱因斯坦得出结论认为，单向光的速度是不实际的自然属性，但一个人的选择。在爱因斯坦之前，我们不妨假设，光单向的速度（因此，相应的同步惯例）是宇宙的财产，我们是不是足够聪明来衡量。但是根据爱因斯坦，事实上，我们不可能测试同步公约向我们展示了宇宙的根本的东西。即，它告诉我们同步公约是不是宇宙的财产，但而不是由人发明的测量系统。没有实验按照套子论文，将永远是能够建立另一个同步公约的，因为同步系统是人类的发明，使我们衡量其他东西很像公制。
选择同步性公约“的动机
上述思想实验结果表明，自然不会不喜欢其中的某一个同步公约任何超过自然喜欢英文系统的度量系统。我们可能会选择在公制系统的工作，但我们总是可以转换到另一个系统。同样，我们可以自由规定的光单向的速度在一定的约束和相应的同步时钟。不过，也有很好的理由选择了另视情况而定一项公约。虽然“圣经”可能只使用升序（我会让这不久的参数），这并不意味着，我们也必须使用ASC在所有情况下。毕竟，这将是荒谬的说，我们不能使用的基础上，“米”或“米”，“圣经”用“肘”。6爱因斯坦同步确实有它的地方。特别是，爱因斯坦同步是各向同性的;以光的速度规定是在所有方向相同。这大大简化了狭义相对论方程式，从而使爱因斯坦同步的首选公约做物理计算时使用。
多为公制系统是比英语的系统更容易使用在物理计算，没有人会认为学生的学习狭义相对论首次使用比爱因斯坦同步公约的任何其他。爱因斯坦同步公约“的一个后果是，所有的观察员同意对远处事件的时间，如果观察员有相同的速度，不管观察员的立场。相反时，ASC将所有观察家都同意对事件发生的时间，如果观察员具有相同的位置，无论速度。由于相对论速度参照系而言，它是非常有用的选择速度单（不分位置），在遥远的事件的时间设置同步公约。数学爱因斯坦同步公约的优势是显而易见的。
然而，数学的优势是不是唯一的考虑因素时，选择一个同步公约。本文的重点是辨别什么公约“圣经”，而不是使用该公约应在介绍物理课本中使用。事实上，“圣经”并不总是选择现代物理学家宁愿公约。例如，考虑地球上的活动时间。本地时间（定义为我们当地的时区的时间），或通用时间（在英国格林尼治标准​​时间），可以测量地球上发生的事件。科学家测量飞机的速度（一个跨越几个时区），无疑将使用通用时间。和“圣经”使用本地时间（不相同，我们的时区，但类似的），或多或少完全。 “圣经”的主要目的是尽可能明确，沟通的方式，达到全体人民团体在任何时候，不只是现代物理学家。为了最好地实现这个目的，各向异性同步公约的是爱因斯坦同步公约“的优越。因此，它似乎很可能是“圣经”使用升序。让我们考虑一些ASC的真理，在任何时候都文化沟通方面的优势。
ASC圣经基础
注意升序明确了爱因斯坦同步公约的观测优势。所有的无限可能同步公约，只有升序不需要知识源的距离，记录任​​何事件的时间。由于表面同时发生的过去光锥基本上是相同的，事件发生，因为他们都看到。任何其他同步公约要求（1）知识源的距离，（2）光的速度（或至少其单向速度的规定）的知识，以计算光旅行时间从对象的观察员。所产生的号码，然后减去从观察事件时，发现在事件发生时的时间。但自（向内执导）的ASC光旅行时间是公理为零，有没有需要知道源的距离，也不是光的速度往返。
据我们所知，古代文化不知道（1）任何明星（除了或许太阳，那么只有非常粗略），也不（2）以光的速度（无论是在一个方向，或圆的距离;行程速度）。因此，看来，地球上所有的古代文化，含蓄地使用升序。被看作一个天体事件时被认为是在该事件发生的时间同步。同样值得注意的是，现代天文学家还可以使用升序（隐含的），例如，当命名的超新星。总是在这一年中的光线到达地球的各向异性同步公约命名为超新星（如1987A）。
只有爱因斯坦同步被广泛使用在20世纪，只有在世界的教育部分。鉴于ASC一直为所有其他的时代和文化的标准，它使意义上，“圣经”将使用升序时，沟通天体活动的时间。圣经（圣经是明确的，这意味着被所有文化的理解，在所有时段的原则）明晰强烈建议同步公约，将在任何时候都文化的理解，而不是同步的惯例，只会在20世纪和二十一世纪的学者使用。
也许最显著的是，圣经本身似乎表明，创造星星几乎是用自己的光到达地球同步。创世记1:14-15描述了天灯的创作，并给出了他们的目的：是迹象，季节，天，年，并在地上（创1:15）。 15节还指出，“它是如此”，表示星星立即在他们的神命定的角色功能：在地上。这强烈地暗示，“圣经”正在使用的各向异性同步公约“的唯一公约中的所有事件是有效的，它们的光线到达观察者同时。
如果上述分析是正确的，“圣经”确实是使用升序，那么遥远的星光问题得到解决。星光的问题是没有这么多的物理学问题，而是一个错误的注释。它是语义不合时宜的谬论（卡森1984年）。这是一个古老的内读入一个现代意义的谬论。在这种情况下，人们一直在阅读创世记，如果它被使用，而不是更古老和更常见的ASC现代爱因斯坦公约的，。现在，因为它强烈看来，“圣经”是从最遥远的星系ASC，星光自然会到达地球上创造的第四天基本上瞬间。
这似乎是一个奇怪的结果，那些不熟悉狭义相对论。然而，它已良好建立，时钟打勾，因为他们接近光速的速度较慢，并且会完全停止，如果他们能够达到光速。所以，每趟从光的角度想象，我们可以沿着光线旅行反正是瞬时的。发生这种情况，无论我们使用同步公约。因此，它是不那么令人惊讶，我们可以找到一个同步的惯例，旅行时间也为零，地球上的观察员衡量。
鉴于这种情况，似乎遥远的星光不能被合理使用作为参数对圣经的时间表。评论家甚至不能开始兴建星光旅行时间为基础的论点，除非他能首先表明，“圣经”不使用ASC或一些相当于同步公约。当然，还有许多其他的事情，评论家也有关于光，时空的性质证明，等等。这里的关键是，他的说法，不能有任何好处，直到他在最少的交易与同步的公约，并试图反驳声称，“圣经”使用升序。
潜在的反对各向异性同步性公约“
虽然这是不可能预见所有潜在的反对上述分析，我将在这里讨论一些较为明显的可能性。
（1）考虑的人说，“但如果圣经真的表明，上帝在六天内创造了由ASC，那么当我们转换升序爱因斯坦同步，这将意味着，上帝真的创造了数百万年。这意味着他的星星，很久以前地球，使他们的光到达地球第四天。但随后，神没有真正建立在六天。“这种反对失败有几个原因。首先，它违背的套子论文。反对微妙的先决条件，爱因斯坦同步公约“，标志着”真正的“时间，升序没有。但是，套子论断告诉我们，ASC标志着“真实”事件的时间，丝毫不亚于爱因斯坦同步。根据爱因斯坦的，有没有“真正”的时间，如果我们意味着一个客观的普遍的同步公约，不依赖于位置或速度。谁的人认为，否则已经下滑到非爱因斯坦思想。 ASC是一个完全合法的同步性公约。因此，上帝真的创造在6个普通的日子里，光真的第四天到达地球。
第二，即使规约论文进行了驳斥，这种反对仍然失败，因为问题不在于“该公约的性质不喜欢？”而“公约圣经使用吗？”如果有人能表明，ASC是仅仅是一个现象学的惯例，这将不是“圣经”的使用无效。日出和日落的现象学，与“圣经”并使用这种方式。要清楚，我不相信，升序是phenomenological.7，但即使它是，评论家必须仍然显示“圣经”是不使用升序，但使用爱因斯坦或轻旅行时间是在一些其他的同步公约不是瞬间。
第三，转换到爱因斯坦同步公约的，从6天在ASC将给予数十亿年，而这是真的，我们也应该考虑反向：从6天爱因斯坦同步公约的转换对ASC也将提供数十亿年。因此，评论家的反对意见是完全可逆的，因此，不合法的。真正的问题是没有年龄本身，但“圣经”教而不是什么？
（2）“但是，也许光确实行驶相同的速度在各个方向。你确定它不会不知道。因此，圣皮尔可能是错误的。“这也反对否认套子论文。那些不熟悉相对论物理学深感倾向于认为，在绝对的时间和空间。因此，它会显得他们强烈直观的单向光的速度应该是客观的，不变的，可测量。但宇宙是不是修建的方式。无论出于何种原因，上帝已经构建了宇宙在这样一种方式，长度，时间，同步，是相对于一个给定的观察员。我们无法衡量光的单向速度，是不是因为缺少的一部分，我们在做一些实验设计的创意。相反，它是因神已建成时空的方式。因此，单向光的速度，必须在一开始就规定。
（3）“如果上帝造的东西，比如他们的光到达地球第四天，那么他必须有数百万年之前，地球上。但出埃及记20:11表明，上帝在六天内创造了一切。“这种反对是荒谬的，因为它引出了一个问题。只有在爱因斯​​坦同步公约的会神长天源之前，地球等，他们的光到达地球第四天。在ASC，明星们创作周4天就和他们的光到达地球基本上是瞬间。这种批评隐含的假定，“圣经”出埃及记20:11在使用爱因斯坦同步公约“，认为”圣经“，必须使用该公约在创世记。但这样的假设是毫无根据的。我们已经看到，以前有很好的理由认为，“圣经”使用ASC各地，包括出埃及记20:11。
（4）“ASC是比爱因斯坦同步公约的数学复杂。因此，奥卡姆剃刀，爱因斯坦同步是更可能是正确的。“这种反对也失败的原因有两个。首先，奥卡姆剃刀适用于竞争车型，而不是替代公约。这将是认为更可能是“正确的”比英文系统的基础上，这是数学简单的度量系统是荒谬的。测量系统不能“正确”或“不正确”，尽管它可能是“有用”或“没有什么用处。”同样，在爱因斯坦同步公约和升序是2不同的测量系统（如英语单位和公制），和一个可以转换到其他。他们没有竞争车型。
其次，争论，一个测量系统是“正确的”，这个假设的批评家表现出非相对论的思想。他一直否认的的套子论文中，我们了解到，ASC和爱因斯坦同步是在狭义相对论的合法同步公约。即使对那些熟悉与相对论的人，这是太容易滑入前爱因斯坦的思想，在我们直观地感受到光的单向速度（因此一个给定的同步公约“），可以是”true“或”假的。“但是，这并非如此。规定同步公约。他们是不是可以研究宇宙的财产。
的ASC模型
的各向异性同步公约的就是这样一项公约。这不是一个科学模型，它不会使检验的预测。它是一个测量的公约，并不能伪造任何超过公制系统可以伪造。不过，我已在本文的论点，即“圣经”使用的ASC系统。这种说法原则上是可证伪的，但当然，我认为那是真实的。此外，由于在创世纪的信息和推断，“圣经”不使用升序，我们可以构建一个宇宙观，它可检验的预测。我会把这个“升序模式。”
是明确的，ASC公约不进行检验的预测，不能伪造。然而，ASC模型超出了单纯的公约和测试的索赔，因此证伪。的ASC模型的基本主张是“圣经”使用的ASC公约。根据我们作出额外的假设，实际上，我们可以构造的升序不同的模式，使有关宇宙应该出现今天的方式的不同可检验的预测数。这些都将有某些共同的特点，因为根据定义，他们都假定圣经的创世记的描述是准确的和正在使用的各向异性同步公约。
我们现在考虑一些额外的合理假设，我们可以构建ASC模型。让我们假设，首先，在宇宙中的引力时间膨胀的影响相对较小。爱因斯坦的广义相对论告诉我们，引力势影响时间的推移。然而，效果是相当小的一颗中子星或黑洞表面附近的除外。根据估计质量，在可见的宇宙和星系的距离上，地球上已知的最远的星系之间的引力势是足够小，它产生的相对论时间膨胀的面值。因此，我们有一个很好的理由使这个假设。
我知道，有年轻的宇宙宇宙观假设重力时间膨胀的影响，或者至少在某些时候，在过去非常大的（堪1994）。原则上，ASC与重力时间膨胀很大程度是完全兼容的，然而，这种扩张是在ASC模型。因此，我建议这里的ASC模型假定重力时间膨胀是微不足道的。这可能会变成没有的情况下，在这种情况下，该模型将需要进行修改。但它似乎最简单的数据在moment.8解释，我会进一步规定理解星系的距离，红移，宇宙膨胀的共识，基本上是正确的，受到良好的科学程序，这是在目前的核查。
观测的ASC模型的预测和确认
鉴于上述规定，我们正处在一个位置，使证伪的预言宇宙应如何出现。由于ASC模式正在创作周第四天的明星，自轻的旅行时间是零根据选定同步公约，因为我们已经假定重力时间膨胀是微不足道的，它遵循宇宙出现在所有的距离，因为它是现在，在等量岁无处不在。因此，当我们在宇宙的任何地区，我们看到它在年龄大约6000 years.9既然如此，我们应该期望看到的宇宙青年的迹象（在对比了数十亿年）在所有的距离。我们应该期望找到不能轻易推断到数十亿美元的年假设过去，因而上放置的过程，是远远超过大爆炸模型，将预测的年龄上限的进程。 ASC模型预测，这些指标将在可见的宇宙范围内所有的距离。值得注意的是，我们已经有一些这确认。
考虑的蓝色恒星。蓝，O型，恒星是在宇宙中最热和最明亮的恒星。虽然他们是较大量的黄色和红色的同行，他们的高亮度表示，他们使用的燃料更快速地比其他恒星。最热的蓝色恒星不能持续超过一万年左右。此外，这是众所周知的，自发的恒星形成过程是充满了理论上的困难（克服内部气体的压力，角动量和磁场），并没有任何重大的观测支持。这是特别的蓝色恒星的问题，因为他们有最大的质量。如果没有形成蓝色恒星，然后他们中的任何空间区域的存在表明，该地区在最近的过去。蓝色恒星是在我们的银河系中无处不在，显然是最遥远的螺旋星系以及。这是一个强烈的ASC模型确认。事实上，无数的蓝色恒星存在于所有的距离是几千岁，在所有的距离，因为我们现在看到的宇宙是一致的。
另一个例子是螺旋星系。这是众所周知的螺旋星系的差异旋转与旋转显著比外地区更快的内陆地区。因此，如果任何的螺旋星系超过1亿岁，其螺旋结构应该是这样紧紧缠绕，它将不再是有迹可寻。然而，这不是我们所找到的。螺旋结构是很容易地在大多数的脸上的星系中可见，这表明这些星系的青年无论从太阳系的距离。
世俗天文学家已经建立辅助假说，挽救他们的世界观来自这方面的证据。例如，他们假设某种密度波可能触发恒星形成螺旋模​​式，从而不断地创建新的螺旋结构的旧体制消失（林和舒1964）。但这样的假设有许多困难（触发机制，相反的意见，如向后缠绕螺旋等）和前提恒星形成（其中有自己的苦衷）。因此，最简单的解释是，是年轻的星系。
事实上，螺旋星系附近的强烈类似于那些在哈勃深场，在我们目前的知识宇宙边缘。附近和遥远的星系的螺旋结构可以清楚地看到，这意味着他们都是大致相同的年龄，作为我们现在看到了。这再次证实了ASC模型。甚至螺旋包装量附近，非常遥远的星系似乎是相同的，因为我们看到他们现在正是ASC模型预测。
的ASC模式也使得一些预测，但仅部分证实。由于该模型预测，宇宙的所有区域应该有年龄只有几千年，因为我们现在看到他们，它遵循的青年应该有证据，在我们自己的太阳系，以及遥远的恒星系统。神创论者已经指出了一些这样的例子在太阳系。彗星，木星的行星，10和强大的行星磁场内部的热量是不能持续数十亿年，但我们的太阳系内发现的一切事物。我知道，世俗主义者有其辅助假说来解释这些东西在自己的世界观。在这里，我只是意味着表明创世框架内，这些证据确认一个年轻的太阳系。
当然，我们的太阳系内青年的证据不确认的ASC模型和其他的创作模式。但它确实确认和升序上述世俗模型的模型的。但不像有些型号的创作，ASC模型还预测，这样的事情应该存在于我们的银河系内很远的距离，甚至在宇宙中最遥远的星系。我们已经看到在其他恒星系统青年的迹象。
作为一个例子，大多数天文学家承认环系统（如那些围绕土星）不能去年十亿年。11然而，即使是现在有证据表明，至少有一些太阳系外行星有这样的环系统以及。北落师门B，例如，被怀疑有一个庞大的环系统，根据其在可见光波长（卡拉斯等，2010）的高亮度。行星的红外线亮度提出了较高的温度，这也是青年（卡拉斯2010年）等。指示。虽然北落师门b是一个只有极少数的太阳系外行星，已直接成像，使我们有这样的亮度和温度数据，虽然它不是一个很遥远的世界，宇宙学标准，12它至少表明，其他额外 - 太阳的行星，将展示的青春，我们发现在我们自己的太阳系相同的迹象。太阳系外行星的研究仍处于起步阶段。但发现在我们的银河系内外的其他太阳系行星青年的证据（如ASC模型预测）的前景是非常令人兴奋。
结论
如果我们接受的成因是使用各向异性同步约定（ASC），而不是爱因斯坦同步公约的，遥远的星光问题得到解决。该决议很简单：“升序”下，直接朝向地球时，光的单向速度公理是无限的，即使光往返的速度仍然是3×108米/秒。因此，从第四天创造的明星自然会到达地球基本上是瞬间。
此外，我们已经看到，有很好的理由来假设，“圣经”确实使用升序。首先，事实，成因意味着，这一天，从创建星级第四天达到地球（“它是如此”），自然意味着公约的ASC。其次，这样一个公约是唯一一个古代世界。因此，如果“圣经”真的旨在传达真理，所有的人在任何时候都组ASC是显而易见的选择。爱因斯坦同步公约“是在共同使用，直到二十世纪初，因此意义不大为上帝使用这样的”圣经“的约定。第三，我们已经看到，爱因斯坦的惯例是严重依赖观察者的运动状态。因此，事件是在一个速度帧同步将超过百万年前在另一蔓延。甚至会导致地球每年的轨道一周的创作，成为千百万年long.13在圣经中有没有这方面的提示，从而表明，“圣经”不使用爱因斯坦公约。事实上，这个问题就消失了，当我们用升序。
我们已经看到，同步公约金额坐标系统的选择。他们规定其效用的基础上。他们不是一个假设，他们是不是可以“测试”的真实性。规定公约同步数学相当于规定单向光的速度。虽然它可能似乎违反直觉，那些相对论陌生的，不能光单向的速度来衡量而不首先规定，明示或暗示。以同样的方式，我们不能测试英文系统或公制是否是“正确的”，所以我们不能光测试单向的速度。它被评为公约的问题。
有无限可能的同步公约。然而，其中两个是非常有用的。爱因斯坦同步（标准）公约“的优势，两个观察员相同的速度上的事件是同步的（不分位置）会同意。的各向异性同步公约的有优势，同一位置的两个观察员将同意上的事件是同步的（不论速度）。由于相对论是主要关注速度帧，它通常是根据爱因斯坦公约在该方程的最简单的形式由于对称性制定。
然而，相对论可以（并且已经）在爱因斯坦的非同步公约（温妮1970a，b）条制定。事实上，爱因斯坦自己指出，这将是可能的规定，过去光锥是面的同时，ASC一样一样。他指出：
我们可以评估事件的时间与内容由自己统筹的起源，事件分配给相应的位置上时钟的指针进行评估时，从该事件的光信号到达同一个时钟派驻观察员他（Sarkar和施塔赫尔1999年）。
他最终选择制定标准同步公约，必要性的相关性，但因为它有独立的观察员地位（而不是速度）的优势。各向异性同步公约爱因斯坦状态，它有缺点，它不是独立的时钟观察员地位“（1999年Sarkar和施塔赫尔）。不过，也有其他因素，使升序最好的维护圣经的明晰的上乘之选。
发现上面盖的潜在反对对ASC是不必要的。他们中的大多数否认的套子论文。他们中的许多乞讨的问题，预设，只有爱因斯坦同步是可以接受的，并认为替代方案是不可接受的。此外，即使规约论文进行了驳斥，批评家仍然会显示“圣经”不能使用现象学作为一种方便系统的ASC。然而，这是我的判断，套子论文的情况是相当强的，并没有乞讨的问题不能反驳。
只是接受一个约定的ASC，遥远的星光问题得到解决。然而，一些额外的，合理的假设，我们是能够产生一个宇宙学的升序模型的基本模式。这种模式使得证伪的预言，其中许多已被证实。 ASC模式意味着宇宙的所有地区，年龄只有几千年，因为我们现在看到它们。这个预测是违背大多数其他星光模式，包括时间的扩张模式。然而，预测有一些观测的支持，如蓝色恒星和螺旋星系，在所有距离的检测。
我们注意到，只占了ASC模型遥远的星光和其他对地球导向的现象，在接近光速的速度（如中微子）移动。曾有人建议其他天体现象，需要几十亿年的星系碰撞，从活动星系核（活动星系核）材料喉等，但我不相信这是如此。在我看来，成熟的创作参数物质的分布上工作得很好。不同的光，在一个特定的配置问题超自然创造不破坏任何清晰度的前提，我们也不有圣经的信息，那将是违背神可能已经创建了这个问题，在其目前的位置非常接近宇宙的想法。所以，我们应该考虑在碰撞星系目前可能已在碰撞中创造的可能性。我们没有理由认为他们必须从以前的状态来。事实上，它是可以想像以前的状态，这可能导致了目前的状态，在逻辑上是不相干的。毕竟，这是可以想像以前的状态，这将导致亚当的成人状态，即婴儿。然而，亚当没有来自这样一个国家。
星光是不同的，因为我们有一些关于它的起源的圣经信息。即，它确实来自颗星（创世记1:15）。和我们的感官经验，基本上是可靠的。因此，我们看到在空间发生的事件真的发生，这似乎驳斥了光，在过境模型。然而，星光不考虑各向异性同步公约的，当我们为一个年轻的宇宙的一个挑战。考虑到所有的圣经信息时，ASC圣经似乎暗示，自然解决星光问题向内导向的轻旅行时间减少到零。此外，ASC形成了一个新的宇宙年轻的宇宙模型已取得了成功的预测的基础。
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脚注
发现的问题更严重的是，他创建的那一天，当我们考虑亚当的天堂的看法。亚当的对宇宙的看法由传统的思维，将有限的只有少数几个光天，他不会在这种情况下，已经能够看到任何夜间明星。太阳系是这个半径内。所以，太阳，月亮和行星，本来可见。但亚当有没有等待下一个最近的恒星4.3年，“闪烁”？如果是的话，那么恒星将不履行多年来他们的目的。背面
我以前写的可能性，可以解决非爱因斯坦同步公约遥远的星光问题。根据我的笔名罗伯特·牛顿，初步文章写，是先导，以更深入的分析，本文提供的2001年（牛顿）。背面
这个圆锥截面被看作是一个椭圆形的O的角度，但是这是因为他的坐标系相对压缩到O在x方向，由于相对论长度收缩。观察员O“会认为该中心作为一个与自己的正圆的圆锥截面。背面
远在地球的6个月后建立参照系的事件相比，在创作周的时间（t）的时间（T）的洛伦兹变换：T'=γ（t-vx/c2），其中x是在创建的星系的距离，v是在创造地球的相对速度相比，6个月后，c是光速，γ= 1 /√（1-v2/c2）。地球的轨道速度是29785米/秒。因此，地球的相对速度（V）在轨道一侧相比，其他的将是这一数值的两倍。星系的距离（x）是130亿光年，它转换为1.23×1026米。时间（t）可设置为零，我们的目的，因为我们开始创建星系时的时钟，和γ密切近似的团结，因为地球移动缓慢相比，以光的速度。我们找到的t'= 8.25×1013小号转换至260万年。背面
狭义相对论中的“惯性观察者”是一个不变的速度和旋转不移动。背面
然而，就在肘不宜阅读“圣经”的测量，如果他们米。这里的关键是转换到另一个从一个测量公约，这是可以接受的。背面
我是更加开放，这在过去的出版物的想法：那就是，“遥远的星光和成因：时间测量的公约”（根据“罗伯特·牛顿”的笔名写的）。但是，我现在考虑的的套子论文是非常完善。背面
本身，时间膨胀很大程度上应该产生一个极端普遍的蓝移。星系钟表打勾比地球上更迅速，自然会出现蓝移，因为生产轻原子的进程正在加快，相对我们。由于我们没有看到一个普遍的蓝移（与此相反，我们看到了一个普遍的红移），最简单的解释似乎是，星系是不会大幅扩张时间。这是没有定论，但是，因为宇宙膨胀的影响（这往往会产生红移），原则上，过度补偿的时间扩张的影响。背面
此规则有一个出发红移成为极端。宇宙将出现略少于6000年的历史，由于在极端的距离差老化。这并不是因为重力时间膨胀，相反，它是由宇宙的膨胀引起的。这导致了我们相对遥远的星系的位置变化，产生了宇宙的时间膨胀。背面
木星，土星，海王星内部的热量。天王星确实没有。背面
这并不意味着要采取作为一个年轻的太阳能系统的参数（本身）。这只不过是一致的，是一个年轻的太阳系的许多指标之一。一些世俗的天文学家会轻易让步，土星环是最近才有的现象，同时保持地球本身是十亿岁。背面
只有大约25光年的北落师门系统。因此，它是不太可能是有用的（本身）超过以上时间的扩张模式建立的ASC模式，因为这种模式最有可能不会预测时间过这么短的距离显著扩张的影响。我的观点是，这种类型更遥远的恒星系统的数据分析，在未来可能是在与时间的扩张模式或其他模式的ASC模型之间的预测来看非常有用的。背面
古代希伯来人可能不知道地球绕太阳运行的轨道，它是不太可能的，他们可以知道可见的宇宙是多么大。因此，他们可能不会被视为一个潜在的问题，这个。但上帝总是知道这些事情。最终，这是神的话语，告诉我们，整个宇宙在短短6天（出埃及记20:11）。因此，与此相悖的任何结论（以同样的方式使用相同的条款，但绘制了不同的结论）是不可接受的，希伯来人，即使不明白这样的。背面
Does Astronomy Confirm a Young Universe?

1. Why can we consider naturalism and uniformitarianism anti-biblical ideas?

2. How do the existence of comets, the recession of the moon, the existence of spiral galaxies, and “stellar evolution” refute the idea of a universe that is 13.7 billion years old?

天文学确认一个年轻的宇宙？
1。为什么我们可以考虑自然反圣经的思想和均变吗？
2。如何彗星的存在，衰退的月亮，螺旋星系的存在，“恒星演化”反驳的宇宙是137亿岁的想法？
